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Chapter 1

Electrostatics

1.1 History and basics

The word electricity is derived from nAextpov (elektron), the Greek word for amber. The refer-
ence to amber is not a coincidence: when an amber rod is rubbed with fur it attracts certain objects,
such as a piece of paper or a hair. This was documented first by Thales of Miletus (600 BC).

Amber is not unique in this sense. Many other materials, such as glass, rubber, PVC and Ebony
can be electrified by rubbing it with for example fur, silk or wool. Many experiments in the 17" and
18" century were conducted to study this phenomenon. This work led to the discovery of two kinds
of electricity (positive and negative charge) that attract, while electricity of the same kind repels. A
simple experiment with a glass rod and a plastic ball as illustrated in Fig. 1.1 shows that like charges
repel. Another experiment, using an additional rubber rod and ball with opposite electrical charge

3 3 I
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Figure 1.1: A glass rod is electrically charged by rubbing it with fur. The rod is then used to charge
a plastic ball. Now the two objects repel.

demonstrates that unlike charges attract, see Fig. 1.2. Well known is the glass rod that, rubbed with
a silk cloth, obtains a ’positive’ electrification. Famous is the Ebony rod that after being rubbed
with a cat’s skin is "negative’ electrified.

5
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Figure 1.2: The rod and ball have opposite electrical charge. The two objects attract.

1.2 Electrical Force and Field

1.2.1 Coulomb’s law

Charles Augustin Coulomb (1736 - 1806) was a French physicist who studied the electrical forces
in a quantitative manner utilizing a torsion balance. Through this experimentation, Coulomb found
that the force between two (point) charges is given by:

- 1 g0

F=—=7 1.1

4rey r 2" (D

where r = |7| represents the distance between the test charge q and source charge Q. The vector 7
connects the two charges. The direction of the force F' is given by 7 = I”\ , the unit vector pointing
from Q to g, see also Fig.1.3. Equivalently, we can write for the Coulomb force:

5 1 7 1
= 1 927 _ 1 49, (1.2)
dmey 12 || 4me B

Q F q
¢ 0

4

Figure 1.3: The Coulomb force between a source charge Q and a test charge q.

The SI unit of electrical charge is the Coulomb, which can be abbreviated to the unit C in equa-
tions. The factor ﬁ is a constant term with &y called the ’electrical permittivity’. The electrical
permittivity has the numerical value:

CZ
g = 8.85419 x 10*12N—

— (1.3)
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Often, Coulomb’s law is also written as

F=x?; (1.4)
I
with K the electrical constant:
9 Nm?
K —8.98755 x 107" — (1.5)

2
Coulomb’s law is about the electrical force between two point charges. If we have three, four
or whatever number of charges at different positions, the total force on a test charge becomes:

ﬁ:ﬁ1+ﬁz+ﬁ3+ﬁ4+ ..... (1.6)

with F; the electrical force by source charge Q; on our test charge given by equation 1.1. Using this
’superposition principle’ we can write this total force as:

= 1 qQ; To—Fi

F= —
=N 471780 |r0 — I",“z |r0 — Fi‘

1.7

with the position of the N charges Q; denoted as 7; and the position of the test charge 7. The
superposition principle is illustrated in Fig. 1.4. The vectors are defined with respect to some origin
0. Note that the expression for the electrical force is independent on the choice of origin O.

Figure 1.4: The Coulomb force on a test charge g on position rq resulting from four source charges
Q1,-..., Q4. The connection vector, iy — ] between charge Q1 and the test charge q is also indicated.
The vectors 7y and 7| are defined with respect to origin O.

The physicist J.J. Thomson discovered in 1897 a new elementary particle: the electron. The
electron carries a negative electrical charge and is responsible for most electrical currents. R.A.
Millikan discovered in 1909 that all electrons carry a similar charge, —e, called the elementary
charge. In SI units its value is

e=1.6002 x 107'°C (1.8)

We know now that in atoms negative charge is carried by electrons, while protons are positively
charged. When we go back to the old experiment, rubbing an ebony rod with fur or cat’s skin, the
electrons from the cat’s skin get transferred to the ebony rod. The cat’s skin now has a deficiency of
electrons and so is positively charged. On the other hand, the ebony rod has an excess of electrons
and hence is negatively charged. So, in everyday life, positive electrification is due to the deficiency
of electrons and thus not by an excess of protons.
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Protons are not so elementary as electrons Protons consists of quarks and gluons. The quarks
carry electrical charge of — e and —I— e. In nature, the quarks and gluons are confined in other
particles (like the proton). Sc1ent1ﬁc research in the field of ’particle physics’ has led to a new
‘table of elements’, one with six quarks and six ’leptons’ which interact by the exchange of force
particles. The particle world is illustrated by the table in Fig. 1.5. All these particles exist in nature,

o @ W
- ® @®

T wO®

L@ e ®

Figure 1.5: The elementary particles. The leptons from left to right are: electron-neutrino, muon-
neutrino, tau-neutrino, electron, muon, tauon. The quarks, in the same order, are: up, charm, top,
down, strange, bottom. From left to right, the mass of the particles is increasing. For example, an
up quark 'weighs’ a few MeV while a top quarks weighs 175 GeV (for reference: a proton weighs
1 GeV ). This mass difference between the particles is an open question, but the so called Higgs
mechanism may be its origin.

but one to remember is that our everyday world is made off only three particles: up and down quarks
and electrons. Electrical charge in nature comes in discrete amounts: it is quantized, which has deep
implications. The net charge before an interaction is equal to the charge after an interaction.

Elementary particles like quarks and gluons are studied in particle collisions at particle labo-
ratories like CERN (Geneva) and Fermilab (Chicago) using large accelerators. Presently at CERN
a new accelerator is being constructed, the Large Hadron Collider (LHC). The apparatus with a
circumference of 27 km accelerates protons clockwise and counter-clockwise to energies of 7 TeV.
At a few dedicated points, interaction points, the protons collide. The detectors to measure the
products (i.c. new particles) of these collisions are large, typically 20 x 20 x 20 m?. In the Nether-
lands, NIKHEF in Amsterdam, is the main institute where research in this field is being conducted.
NIKHEEF contributes to ATLAS, a detector for the LHC, as shown in Fig. 1.6. Although ATLAS is
a multipurpose detector, the focus of the research program is on the Higgs particle.

1.2.2 The electrical field

Let’s have a closer look to equation 1.7 and rewrite it:

= 1 Qi n—n
F= =t 0 (1.9)
1 (,:;Nél'ﬂg() |}"()—I‘[|2 \Vo—ri|>
The electrical field E is defined by:
F=¢E, (1.10)

with: Lo
1 Qi n—F

E= = 2
471:80|F0—Fi|2|1"0—1",‘|

i=1,N

(1.11)
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Figure 1.6: An impression of the ATLAS detector which is being assembled. This detector is
44 m long! Particles that are produced by proton collisions are measured using several detection
techniques. NIKHEF contributes to the silicon tracking detectors and muon drift tube chambers.
See www.cern.ch for more information.

In different textbooks you will find different notations. A common notation is:

E=Y —Z5 (1.12)

In this case the vector 7} is defined as I} = 7 — 7. Be aware of this freedom of notation, which leads
to many un-necessary mistakes.

A way to physically interpret the above expression for the electrical field is that a charge ¢
senses an electrical field and consequently undergoes a force F = ¢gE. We have introduced the field
as a relatively simple mathematical definition. However, the electrical field is a genuine physics
quantity! In electrostatic theory, the field is present in space and you can calculate it using for-
mula 1.11 when you know the (point) charge distribution. If the field is present in space, you may
wonder, where is it made off? That is a bit harder to answer and beyond the scope of this course. In
particle physics, fields consist of *force particles’ that are being exchanged when particles have an
interaction. The electrical field consist of (virtual) photons that are exchanged between electrical
charges.

Above, all equations are based on point charges. Since all charge are carried by individual
particles this seems not unreasonable. However, in the classical theory charges can be continuously
distributed. This is still reasonable when we describe physics at a scale much (much) larger than
the size of and distances (10~'°m) between the particles. The classical theory describes nature in a
macroscopic matter. We will discuss some examples of continuous charge distributions.

Line charge

A line charge can be described by a charge density A(7;) with has the unit C/m. The position
vector 7 is a coordinate defined with respect to some origin. To calculate the field in point P with
coordinate 7p, we integrate over the infinitesimal pieces of charge A (7;)d! to find the electrical field:

—

E(?P) - : /line )((rl)

47 72

Pdl (1.13)
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where 7 is the connection vector between a piece of charge and the point P with coordinate 7p, thus
7 =7p —7,;. This is illustrated in Fig. 1.7.

Figure 1.7: Illustration of a line charge.

In fact, we can still interpret the integral as the sum over point charges as we used to do in

-

equation 1.11. A point charge is then just a piece of line charge dg = A(/)dI and so we obtain:

- 1 dq .
E(’”P) B Fg0 /charge rqr
. 1 dq 713 —?1
B 4‘71:80 /charge |f}’_7l|2 ‘7P_7:1|
1 Qi Tp—i

(1.14)

Q

pointcharges 47[80 |?P B 7.’|2 |?P B 7."
Perhaps the interpretation of a continuous charge distribution as a collection of point charges helps
you to make the math less abstract.

Example of a line charge

As an example we will calculate the electrical field in a point P with z = zp of a piece of wire with
length L centered on the x axis. The wire carries an uniform charge density A. The configuration is
shown in Fig. 1.8.

When we consider the contribution, dE, of a piece of charge Adx at position x to the electrical
field in P we see that there are two components, an x and z component:

1 Adx
dE, = — % g
e 2123 o sin(a)
1 A
dE, — Y _cos(a) (1.15)

— —F>——=COS
4rmey 73 + x2

Look at the symmetry of this problem. The components in the x direction cancel (E, = 0) and thus
we only have to integrate the z contributions. So, we need to know cos(a), which we can get from
the figure (convince yourself!): cos(o) = —~£—. Now we can integrate all contributions:

N/

E. = /dEZ

/+L/ 2 1 Adx zp

—1)2 4mEy 23+ X7 [2 1 52
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Figure 1.8: A wire of length L with uniform charge distribution. Also indicated is the contribution
to the electrical field in point P of a piece of line dx.

B /+L/2 1 zpAdx
—L/2 ATE (3 +x2)3

_ A X |+L/2
= —L/2
4mey zpy/2p + X2
A L

- (1.16)

AREo o[22+ (L)2)2

Does the result make sense? Well, we know that the field of a point charge is linear with charge Q
and drops quadratically with the distance. If we look from very large distance to the line charge,
zp >> L, so that all the charge on the line appears concentrated in a point, we find that

1 E _ 1 Qtotal

z = — =
4mey 75 4mey 75

(1.17)
which is the field of a point charge Q;,;s = AL, as expected.

Surface charge

An illustration of a surface charge is depicted in Fig. 1.9. A surface charge is described by a charge
density o(7;) with has the unit C/m>. When 7, lies on the surface, o(7,) has some value that
represents the charge density. When 7 lies outside the surface, o (7;) =0 C/m2. To calculate the
electrical field we integrate over the contribution of the infinitesimal pieces of charge dg = & (¥;)do.
The electrical field in point P is given by:

3 i 7
E(ip) = / f o) 14 (1.18)

 4mey 72

Now 7 is defined as the connection vector between point 7p and the location of some infinitesimal
piece of surface, thus 7 =7p — 7; .
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Figure 1.9: Illustration of a surface charge.

Like the integration over a line, the integration over a surface is a difficult task. Only in special
cases we can actually perform the integration. So, don’t worry for the moment if you do not see
how in general you could use the above expression. Finally we remark that we have been ’sloppy’
with our notation: a surface is two dimensional, thus one would expect a double integral with two
integration variables. Well, get used to it: in different textbooks you will find at least as many
different notations. Be prepared and just *bluf” through it.

Volume charge

Figure 1.10: Illustration of a volume charge.

An illustration of a volume charge is depicted in Fig. 1.10. The volume charge density p(7,) is
the most general continuous charge density and has the unit C/m?. The contribution of the infinites-
imal pieces of charge dg = p(7,)dv lead to the following expression:

= 1 p(?\/) A
E = — 1.1
(rP) 4'7'[:80 /Volume r Fdv ( 9)

Now 7 is defined as the connection vector between point 7p and the location of some infinitesimal
piece of volume dv at position 7,. Applications of this expression come later. Note that we again
have been sloppy with the notation. A volume (in this report) has three dimensions and thus three
integration variables. For example when we integrate a function f over a volume in Cartesian

coordinates:
/ fdv= / / f(x,y,z)dxdydz (1.20)
volume x=—o00 Jy=—o00 Jz=—0c0
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and in spherical coordinates:
2 pm )
/ Fdv = / / £(r,0,0)Psin(0)dod0dr (1.21)
volume ¢=0J6=0Jr=0
If this is *abracadabra’ to you, first work through a textbook on mathematics!.

1.2.3 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e Charge can be positive and negative. Electrons carry the elementary charge —e, with e =
1.6002 x 10~'? C. The total charge is conserved.

e The electrical or Coulomb force between two electrically charged objects is given by:

- 1 g0
F=——7¢ 1.22
4re r2 : ( )

Make sure you understand the notation!

e The electrical field of a point charge ¢ is given by:

E=—= 1.23
4re r2 d ( )
e The electrical field of a volume charge is:
= 1 p(?v)
E = rd 1.24
(rP) 4rme /\;()lume 72 rav ( )

You understand all the vectors in this notation and you can make a drawing that illustrates
this expression. You can also write down the formulas for the electrical field of a line charge
and a surface charge.

In addition, make the corresponding exercises of this section, which you can find in Appendix A.

1.3 Electrical flux and Gauss’ Law

1.3.1 Electrical field lines and electrical flux

Figure 1.11 graphically displays the electrical field corresponding to the electrical field of a point
charge. To make this drawing a grid was chosen and on each grid-point the electrical field is
represented by an arrow. The length of the arrow corresponds to the magnitude of the field and, as
can be seen in the figure, decreases quadratically as appropriate.

Traditionally, the electrical field is depicted by field lines as shown in Fig. 1.12. The density
of the lines represent the magnitude of the field. Note that such drawings are two dimensional

IPlease, let the authors of this report know when integration using spherical coordinates are unknown to you at the
time of the lectures. Don’t hesitate! Additionally. in the slides, added as Appendix you can find more explanation and
many examples.
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Figure 1.11: The electrical field of a point charge depicted by vectors.

Figure 1.12: The electrical field of a point charge depicted by field lines.

projections and thus that the density of the lines drops with the circumference of a circle, 2zr. In
three dimensions the line-density drops with the surface of a sphere, 477>

Have another look to the field lines in Fig. 1.12 and imagine a spherical surface around a point
charge. The number of field lines through the surface is constant, thus independent on the size (or
better radius) of the sphere. You find an animation of this phenomena on the web-page.

The number of field lines can be expressed by the electrical flux:

P = E-dd (1.25)
sur face
This the flux through a surface. The infinitesimal surface element d@ is a vector with magnitude do
and its direction perpendicular to the surface. We can write

E-dd=E-Ado = |E|cos(¢)do (1.26)

with 72 the normal on the surface” and ¢ represents the angle between the electrical field and normal
direction of the surface.

Figure 1.13 shows three examples of the electrical flux through a surface for different angles
between the field and surface. With the electrical field being constant, the flux through each surface

2In textbooks several notations are used for the normal vector, a few common notations are: A =7 = &, = é,.
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Figure 1.13: The electrical flux through a surface S for different angles between the field and sur-
face. The normal i is also indicated.

S in Fig. 1.13a-c is:

a:ds = |E|cos(0)S = |E|S
b:®s = |E|cos(n/2)S =0
c:ds = |E|cos()S (1.27)

1.3.2 Gauss’ Law

Gauss’ Law states that the electrical flux through a closed surface, independent of its shape, equals
the total charge enclosed by this surface multiplied by the factor %. Thus:

o)

charges—enclosed €

d = E-dd=

closed—sur face

(1.28)

This relation allows us to calculate the electrical field in many cases in an remarkable elegant way.

But first we will deduce, or better, verify the validity of Gauss’ Law for a simple case. Therefore
we consider a point charge, O, and calculate the electrical flux through a spherical surface with
radius R. This configuration is illustrated in Fig. 1.14. The flux is given by:

®= E-db':/ E - ido (1.29)
sur face

sur face

where 7 is the normal vector on the surface. Now we use the argument that both E and 7 point in
the radial direction, hence

O = |E|cos(az ;)do = / |E|do (1.30)
surface ’ surface
The electrical field at the surface follows from equation 1.11, |E| = E.(R) = ﬁ %. We find
1 0
> = — = do
471780 R? surface
1 0 5
= — Z4nR
4re R?
0
- 2 (1.31)
&

independent of the location on the surface, in accordance with Gauss’ Law.
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Figure 1.14: Illustration of the electrical flux from a point charge Q through a spherical surface
S. Everywhere, the electrical field points along the normal on the surface, i.c. the radial direction.
Some infinitesimal piece of surface do on the sphere is also indicated.

Intermezzo: a more mathematical approach

To evaluate (i.c. to get rid off) the dot-product E - dd we used the argument that both vectors point
in the radial direction. Perhaps this step is hard to digest and you want to see what is behind it.
Well, let’s give it a try. If we had started using Cartesian coordinates we would have written:

® :/ E.do
sur face

= /f (Exx+E\ 9+ E.2) - (neX+ nyy+n.2)do (1.32)
sur face

with A = (ny,ny,n;) the normal vector on the spherical surface. The unit vectors in the x, y and z
direction are represented as £, ¥ and Z respectively. Another common notation for these unit vectors
are 7, j and k.

The expression in Cartesian coordinates is for our case just terrible because the physical sym-
metry of the original problem is obscured. Obviously we need to work in spherical coordinates.
Then, formally we obtain:

® :/ E-da
sur face

= / (Eg$ +Egb +E,7)- (ny$ +ngb +n,#)do
sur face

- / (Egno$ + Eong® + Eyn,#)do (1.33)
sur face

With ¢, 6 and 7 the unit direction vectors in the ¢, 6 and r direction respectively. It looks abstract, (it
is), but just try to see through the notation and realize that the vectors are written out in components.

We then use E = (O(ﬁ,Oé,Erf) with E, = %. In fact E, is a function and depends in general
on 7 or in this case for a point charge just on r. Hence, on the surface E, = E,(r = R). The normal
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vector 7 on the surface points in the radial direction and has the unit length: /A = (0,0, 7). When we
substitute these expressions and reshuffle, we acquire:

1
d = / — %do
surface 47€ R
1 Q 2 T

= — = R’sin(0)dodo
4mey R? Jo=0Jo=0 sin(6)d¢

1 T
%%Rz =0
_ %%R%ﬂ(—cos(@))%r
- Hls()%RZMC

0
iy (1.34)

Probably this intermezzo did not increase your confidence in Gauss’ Law. It showed however the
basic steps which many textbooks tend to skip. In the following we often skip such steps; they
contain too much mathematical detail and so distract from our physics case. What was the physics
case? Well, the symmetry in the behavior of the electrical field, namely the 1/r> dependence, and
that of the size of the spherical surface growing with r2 leads to a cancellation.

(9)[57sin(6)d0

1.3.3 Validity of Gauss’ Law

Figure 1.15: (a) Point charge Q in a closed surface. (b) Point charge Q outside a closed surface.

We checked Gauss’ Law for a spherical surface with a point charge located at its center. Fig-
ure 1.15a shows a weird shaped closed surface with a point charge somewhere in its volume. Also
for this shape Gauss’ Law is valid; it is the *dot’” product which does the job. Put the point charge in
the origin. Its electrical field has only radial components. The dot-product with the normal vector
of the surface kills all non-radial contributions. In addition, the distance of the surface with respect
to the charge is irrelevant: the field drops with 1/r% and the radial projection of the surface grows
with 72. Also, we could have put many point charge at different location within the closed surface.
Obviously for each point charge individually the contribution to the flux is its charge (divided by
€), and the total flux is given by the sum of all charges (/).
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Figure 1.15b shows a closed surface with a charge located outside its volume. Use the above
arguments to deduce (qualitatively) that @ = 0 in this case.

1.3.4 Applications of Gauss’s law

"Gauss’ Law is always valid, but not always useful’. What does this mean? Well, Gauss’ Law can
be applied in some cases to evaluate the electrical field in an elegant way. Below, we describe a few
of these configurations.

The line charge

h

Z ’ I E
....:/(p
\r

Figure 1.16: A line charge (dark gray). A Gaussian cylinder (light gray) with height h and radius r
is also drawn.

Figure 1.16 shows an infinitely long and infinitely thin line charge with uniform charge density
A. The optimal Gaussian surface is a cylinder. To obtain this insight, first deduce the shape of the
electrical field. It needs some practice to acquire a feeling for this, but we can give some hints.

e Imagine the line is build from small point charges dA. Every point charge produces a elec-
trical field point in the radial (spherical-wise) direction. Consider a position somewhere near
the line. At this position you ’feel’ an equal amount of field lines from above as from be-
low. Hence, the field in the z direction cancels. Obviously there are no components in the ¢
direction. There can only be a component pointing away from the line charge.

o Look at the symmetry of the line charge. Suppose there is a field component in the z direction.
Remember that the line is infinitely long and imagine that you mirror the configuration in the
r¢ plane. This does not change the physical configuration, but the *would be’ z component
of the field has changed sign. There is only one possibility: there is no z component.

We conclude that the electrical field has only a radial (cylinder-wise) component. Therefore we try
a cylindrical Gaussian surface with arbitrary height / and radius r. The flux through the cylinder is
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given by the sum of the contributions of the curved body and the ends:

P = E-ds=| E-d3+ E-ds (1.35)
cylinder ends curved—body

The normal vector on the ends of the cylinder point (only) in the z direction. Hence, the dot-product
filters out the z component of the electrical field, which is zero. So, we are left with the contribution
of the flux through the curved body of the cylinder. The normal vector is radial (cylinder-wise) and
thus filters out the one and only radial component of the electrical field, (E,(r)).We obtain:

=

o= E-do= / E,( rdo—/ / (r)dzrd¢ (1.36)
curved—body curved—body ¢=0Jz=0

The electrical field is independent on the integration variables and we may write:

2r pz=h
D= E,(r)/ dzrdg = E,(r)2nrh (1.37)
0=0.2=0

Now we apply Gauss’ Law:

Qenclosed Ah
S =FE.(r)2nrh = =— 1.38
r(r) tr & £ ( )
For the electrical field of a line charge we find that:
E, 0
Ey =
A
E = 1.39
r(l") 2717801" ( )

If the line has a finite length L this method can not be applied. However, it then still provides a
good estimate of the field close to the wire, i.c. ¥ << L. If you are not convinced, use the result of
the direct integration in Section 1.2.2 to show this. Also when the charge density is not constant in
the z direction we can shake it’. When the line has a finite thickness with radius p this method can
still be applied as we will see later.

A flat surface charge

Figure 1.17 shows an, infinitely large and infinitely thin, surface charge with uniform charge density
o. What are the components of the electrical field?

e Imagine the plate constituted of small point charges do = odo. Every point charge produces
an electrical field point in the radial (spherical-wise) direction. Consider a position some-
where near the plate. At this position you ’feel’ an equal amount of field lines from above
as from below and from left as from right. Hence, the field in the x and z direction is zero.
There can only be a component perpendicular to the surface charge.

e We can also used arguments based on symmetry. Suppose there is a field component in the x
and/or z direction. Turn the configuration around its y axis. The plate is infinitely large and
thus remains physically the same. The would be components would have changed direction,
while the physics is invariant.
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y

X

Figure 1.17: A flat surface charge (dark-gray). A Gaussian cubical surtface is also indicated.

o In addition, a shift of the plate in the x — z plane does not change the electrical configuration.
This implies that the electrical field does not depend on x or z and thus only depends on y.

We conclude that the electrical field has only a component in the y direction, opposite for the region
+y. We try a cubical Gaussian surface (a pill-box) with ribs sized a. The flux through the sides
with normal vector in the x and z direction is zero. We only need to calculate the flux through the
top-covers with normal vector in the y direction. The normal vector in the —y region is opposite to
that in the +y region, but the electrical field direction also swaps. Hence,

&= E.dd=2 / E,(y)do = 24°E, (y) (1.40)
top—cover

top—covers

Make sure you understand the steps above. From Gauss’ Law follows

2
_ Oenclosed _ao

® =2E,(y)d® (1.41)
y(y) £ £
And for the size of the electrical field we obtain E, = % and thus
— 0-
E=—9. 1.42
> goy (1.42)

Note that the field is constant, but opposite for positive and negative y values respectively.

A spherical surface charge

We consider a spherical charged surface (or shell) with radius R and surface charge density ¢ as
illustrated in Fig 1.18.
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/k

Figure 1.18: Illustration of a spherical surface charge density ¢ with radius R.

What are the components of the electrical field? Suppose there are non-radial (spherical-wise)
components. Rotate the configuration around its center such that the non-radial components change
direction. Realize that the physical configuration is invariant allowing no non-radial components.
The same argument can be used to deduce that the radial component of the field only depends on r.
Hence, E = E,(r)?. We did not specify whether we discussed the field inside or outside the shell.
Well, it doesn’t matter. Both inside and outside the shell we can use the above arguments.

For the electrical flux inside the shell follows:

O = E-d3=E,(r) / do = E,(r)4nr? (1.43)
spherical—sur face

spherical—sur face

There is no enclosed charge, so we have:
O =E,(r)4mr* =0 (1.44)

There is only one possibility: E(r) = 0 inside the surface.
Outside the shell, » > R, we find the same expression for the flux. The enclosed charge is
O = [furface 0d0 = o47mR?. We obtain:

1
& =E,(r)4nr? = g<;47z132 (1.45)
For the electrical field follows
- . OR?
E:Er(r)r:@r r>R (1.46)

In fact, the electrical field outside the shell is identical to that of a point charge in the center

with the same charge as present on the shell. This can be easily shown. We substitute o = 47:% in
equation 1.46 and find:
= Q
E=—=7 1.47
47158()}’2 : ( )

which is the field of a point charge, as expected.

A massive spherical charge

Figure 1.19 shows a spherical volume charge density p. The volume has radius R. Like in the
previous example, we have spherical symmetry. The electrical field has only a radial component
and depends only on the radial distance: E = E,(r)?.

The electrical flux outside the sphere, r > R, is given by:

®= E-dd=E,(r) / do = E,(r)4nr? (1.48)
spherical—sur face

spherical—sur face
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Figure 1.19: A spherical volume with radius R carrying a uniform charge density p (dark-gray).
Two Gaussian spherical surfaces are indicated. One inside and one outside the charge density.

Outside the spherical charge the enclosed charge is [,
find:

pdv=p %nR3. For the electrical field we

olume

PR’

E=
3801"2

P r>R (1.49)

Inside the spherical charge, r < R, we have in principal two contributions to the electrical field.
One contribution from the inner sphere (surrounded by the Gaussian surface) with radius r and a
contribution of the shell between r and R. In the previous section we calculated that the electrical
field contribution inside a charged shell is zero. This implies that we only have to account for the
contribution from the inner sphere. The Gaussian spherical surface encloses a charge p %ﬂr3. For
the electrical flux we find:

4
E (an? = P2 a3 (1.50)
& 3
This leads to an electrical field of P
o r
E="—+ R 1.51
36, Fr< ( )

Figure 1.20 shows the magnitude of the electrical field as function of r. Starting from the center,

E r<R: E:ﬂ
e 3s,
rzR: E:ﬂ
3€0r2

R —

Figure 1.20: The size of the electrical field of a spherical uniform charge density as function of r.

the field grows linearly with r till the surface of the spherical charge is reached. Then it drops with
1/r%, similar to the field of a point charge in the origin.
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1.3.5 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e Gauss’ Law:
o [ |
/ E-dd= ) @ _ —/ pdv (1.52)
closed—sur face charge—enclosed & &0 Jvolume
which is always valid.

e In electrical configuration with a symmetry between the field and the charge distribution,
Gauss’ Law can be used to determine the electrical field.

e You can apply Gauss’ Law for a line, flat surface, and spherical charge. You know how to
use Cartesian, cylinder and spherical coordinates to perform surface and volume integrals.

In addition, make the corresponding exercises of this section, which you can find in Appendix A.

1.4 The divergence of the electrical field

The divergence of the electrical field is defined as

JE, JE, OE.

V--E= (0x,0y,0;) - (Ex,E,,E;) = W—F ED + Fe

(1.53)

In this Section we will introduce this quantity in a natural way and describe its link with Gauss’
Law.

1.4.1 Flux and divergence

..... v
a Etxyz)\b) Etxrdxy.z)

Figure 1.21: An infinitesimal box with volume= dxdydz in an electrical field E. The covers a to f
are indicated. Also, the field vectors on cover a and b are shown.

Figure 1.21 shows a infinitesimally small box, which is placed in an electrical field E. We

work in Cartesian coordinates and calculate the electrical flux through the box. The flux [, ,, E-dd
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through each of the covers a to f of the box is given by:

—E\(x,y,z)dydz

E (x+dx,y,z)dydz

—Ey(x,y,z)dxdz

Ey(x,y+ dy,z)dxdz

—E (x,y,2)dxdy

E_(x,y,z+dz)dxdy (1.54)

o o

- O o0

Note the relative minus sign for opposite covers which comes from the opposite direction of the
normal vectors on these covers. Now we add all contributions to obtain the flux through the box:

/ E-do=  [E(x+dx,y,z) — Ex(x,y2)|dydz
box
[Ey(x,y +dy,z) — Ey(x,y,2)]dxdz
[E.(x,y,z+dz) — E;(x,y,2)]dxdy (1.55)

Remember the rule of elementary calculus that df = f(x+dx) — f(x). The above equation can be
rewritten as:

E-d3 = dE,dydz + dE,dxdz + dE,dxdy (1.56)

box
Now multiply the part with E,, Ey and E, with %, % and fl—i respectively, which is mathematically
equivalent to multiplying with unity. We find

- dE, dE, dE
/ E-do = dxdydz + —2dxdydz + —=dxdydz
box dy dz

dx
B [dEx dE, dE

— 4+ =\ dxdyd
dx+dy+dz rayac

— V--Evolumepey (1.57)

Hence, we derived a relation between the flux through infinitesimal box and the divergence of the
electrical field. The relation is however valid for any volume. To see this, glue boxes together to
make you any volume as illustrated in Fig. 1.22. We obtain:

Figure 1.22: Any volume consists of a collection of infinitesimal boxes.
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/ E-daz/ [V--Eldv (1.58)
sur face volume

Although we derived this expression for the electric field, it is valid for any vector field and was
first derived by Gauss. We will refer to this expression as Gauss’ Theorem.

1.4.2 Gauss’ Law and Gauss’ Theorem

Gauss’ Law for the electrical flux:

- 1 1
[ Edi=—Quaa=— [ pdv (159)
sur face & &0 Jvolume
can be combined with Gauss’ theorem:
/ E-d5:/ V. .Edv (1.60)
surface volume
This leads to the following expression:
— = = 1
/ E-b':/ V--Edvz—/ pdv (1.61)
surface volume &0 Jvolume
which implies
V.E=FP (1.62)
&

This relation is Gauss’ Law in differential form. It locally related the charge density and the elec-
trical field.

1.4.3 Gauss’ Law for a charged sphere

Given the electrical field, we can ’simply’ determine the charge density using Gauss’ Law (in dif-
ferential form). We start with the known field of a uniformly charged sphere with density p. The
electrical field inside the sphere is:

pr._ p

E=.—f=2-7r<R 1.63
380r 38()r : ( )
Now take the divergence.
v Pz - Y
V--E = 3—80V--r: %(8x,8},,8z)-(x,y,z) (1.64)
p p p
= (9 0 0.70)=—3=1 1.65
Yes! ,
Outside the charge sphere p = 0, the electrical field is £ = 3‘; R ~7. We calculate the divergence
- S&or
of 5:
= 7 = 1
Vel = Vel ()]
r3 (x2+y2+z2)%
= X y b4
:V“(z 2 02V (2 2 4 2Y3 T (52 2 4 2)3
(2+y2+22)2 (2+y2+22)2 (2 +y?+22)2
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0 x 0 y d Z
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(x2+y2+z2)§ (2412 +22)3
. (1.66)

Not convinced? Try it yourself!

1.4.4 The loop integral of the electrical field

Figure 1.23: An illustration of a path integral in the electrical field of a point charge q.

Another important characteristic of the electric field emerges when we consider the path integral
of the field of a point charge g:
b, q b1 . b .
E-dl=——| =?-dl= | E--dl 1.67
/a dmeg Ja 72" /a " (1.67)
The electrical field is pointing purely radially. No matter what the exact path is followed from a
to b, the dot-product filters out the radial component (#-dl = dr). Thus we can replace the path
integral by:
T q /’ b1 q -1, qg 1 1
E.-dr=—— —dr=——">[" = ——"»(——— 1.68
/Va e dmey Jr, r? " dmey r 471,'8()(ra rb) ( )
For a closed path r, = r; we obtain:

/E"-dfzo (1.69)
Thus, independent of the path we followed, the integral of a closed path of the electric field is zero.

Using the superposition principle we can argue that this relation derived for a point charge is valid
for any charge density.
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The expression [ E-dl =0 is the second electrical field equation in integral form and has no
historical name. The differential form V x E = 0 we will derive later.

1.4.5 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You understand Gauss’ theorem and the relation between the electrical field an the charge

density:
— = - 1
/ E-b':/ V--Edv:—/ pdv (1.70)
sur face volume &0 Jvolume

e You can apply the field equation:

V.E=L (1.71)
&
which is Gauss’ Law in differential form.
e You can derive and use the loop integral of the electrical field:
/E-df: 0, (1.72)

independent of the path we followed.

In addition, make the corresponding exercises of this section, which you can find in Appendix A.

1.5 The electric potential

In this Section we will introduce the electric potential. It turns out that the electric potential is a
powerful quantity to calculate the electric field of complex charge configurations. However, within
the scope of this report we have to limit to more straightforward but elegant examples.

1.5.1 Work in a gravitational field

To refresh your memory we first consider work and potential energy in a gravitational field. The
work, Wy.,son When you lift an object with mass m from the ground to height 4 is

h —
Woerson :/0 F-dl 1.73)

with the force, \F | = - mg, the mass times the gravitational constant. To lift the object we need to
apply a force F = —Fg = mgl and thus the the total amount of work needed is:

Wperson =mgh (1.74)

The potential energy of the object equals U = W ,¢/50, = mgh. In the following Section we apply
this principle to the electrical field.
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Figure 1.24: A test charge q in the field of a source charge Q is brought in from infinity to P.

1.5.2 Potential energy in an electric field

Consider a (test) charge ¢ in the electrical field of a point charge Q at position P, see also Fig. 1.24.
The electrical force on the test charge is F;lec = ql_f . The (minimum) force you must exert on g to
move it opposite to the electrical field is —qE . The potential energy of the configuration is defined
as the minimal work needed (for you) to bring the test charge g from infinity to P.

P —
Up= Wperson = _/ CIE -dl (175)

Note that the path followed dl in principle has a radial and non radial components (the ¢ and
0 direction). However, as before we argue that the electrical field has only a radial component and
we can write:
| P . P=rp
Up=— / E-dlz—q/ E,f‘-dlz—q/ E.dr (1.76)

oo

Now substitute the electrical field of a point charge and obtain:

—qQ ("1, _ 40 1|rp_ qQ 1

N 4rey rp

= —dr= 1.77
4reg Joo 12 " 4reg v (.77

Up

A definition of the ’potential’ V is the potential energy of a charge unit in the field of the source
charge Q:

Up 0 1

Vp=—=——"— 1.78

P q 4rey rp ( )

where the reference point or ’gauge-point’ is implicitly taken in infinity.
To calculate the potential for a collection of charge, we simply extend equation 1.78 and inte-
grate over all point charges in the collection:

dg 1
Vp = —— 1.79
i /charge 4ﬂ80 r ( )

and for a continuous charge density rho we write:

Vp:/ Mld? (1.80)

olume 47[80 r
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1.5.3 The definition of the electric potential

The most general definition of the potential is

P
Vp = —/ E-dl (1.81)

gauge
where the gauge-point can be chosen where-ever you want. You can verify yourself that for a point
charge and gauge-point at infinity you find back equation 1.78.

We have defined the potential starting the potential energy of a simple charge configuration.
Fine, the potential and the potential energy are related; that is useful to know. But, what about
the general definition of the potential? It depends in general on the free choice of a gauge-point.
How can such freedom be useful for describing physics? Indeed, the potential itself has no physical
interpretation. However, potential difference and as we will see soon, the gradient of the potential
are relevant physics quantities.

1.5.4 The potential and the electrical field

From the previous section we know how to calculate the potential from the electrical field. Is is
also possible to determine the electrical field given the potential. To find this relation, consider the
difference in potential between points A and B:

© — * — B—; —
VAB:VB—VA:/ E-dl—/ E-dl:—/ E.dl (1.82)
B A A

where we swapped the upper and lower boundary of the integral, so keep track of the ’plus and
minus’ signs! Note that the potential difference V4p is uniquely defined, independent of the gauge-
point.

The potential is just a scalar function. Hence,

B Bov oV . oV
VB—VA:/ v = [ Ty Lay+ 2z
A 4 Ox dy 0z

B 9V 9V 9V
-/ (E,g—y,a—z)-(dx,dy,dz) (1.83)

With the standard definition of the gradient:

- Jd d
V.= (aaa_ya

| &

) (1.84)
Z

QO

we find:
B =
Ve—Vy = / V-V-(dx,dy,dz)

A
B—» —

= V-V.di (1.85)
A

Combining Equations 1.82 and 1.85 leads to:

—

E=-V.v (1.86)
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Thus the gradient of V has a physical interpretation; it is the electrical field (with a minus sign).
This closes the circle. We can now determine the potential from the electric field and vice versa.

For completeness we express Gauss’ Law in terms of the electric potential. For that we need
the Laplacian operator, %-2, defined by:

9> 9%  9?

Now we go back to Gauss’ Law and derive:

<

VE = V- (V-V) (1.88)
_ v2y_F
£

which is usually called "Poisson’s equation’. Let’s throw in one more definition. In the absence of
any charge, Poisson’s equation becomes:

V2y =0 (1.89)
which is called Laplace’s equation.

The electrical potential and field of a point charge

We determined the potential for a point charge to be:

0 1
=—- 1.90
drey r ( )
Now we check whether the expression E = —V-V returns the correct electrical field. We start with:
vl - g1
r x2 _I_y2 +ZZ
d 1 . - J
= = . —.Z
it o
- _ X o Yy - Z P
(42 4+2)2 (242 +2) (R4 +2)
1 7 7
- _ —— == 1.91
(242 +22)3 (3,2) r r2 (1.91)
and conclude that
- 0 =1 0o 1, -
VV=—V.-=———"—Sp=—-FE 1.92
dwey 1 dmegr? (1.92)

Most expressions in electrodynamics involve spherical symmetric function. For such a function,
f(r), you can quickly determine the gradient using the following relation.

df
= =7

V- f(r) = 0 (1.93)
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The potential of a charged sphere

In Section 1.3.4 we determined the electrical field inside and outside a massive spherical charge
with radius R and charge density p.

E = ﬂff r<R
3¢&

S R3

E = PSR (1.94)
3801"2

As an example we calculate the potential inside the spherical charge.

r - R _, r,o
V(r):—/ E-dlz—/ E-dl—/E-dl (1.95)
(e} o R
We substitute the expression for the electrical field and find:
R 3 r
PR / pr
1% - — dr— | =
(I’) S 38()1’2 : R 380 d

_ pR3 ‘R pr2 |r
N 3801’ - 680 R

3R 65 68

pR* pr?
— . 1.
280 68() ( 96)

R3 2 R2
PR _pr  pR’

At this point it may be not yet clear why the potential is relevant anyway. Don’t worry about that
now and make sure you understand the mathematics.

The potential of a circular charge

We introduced the potential and perhaps the idea came to your mind *where do we need that for’.
Well, to calculate the electrical field of complex charge configuration can be a difficult task, even
numerically 3. Starting with a calculation of the potential and then calculate the electrical field is
often much easier.

We want to calculate the electrical field at a distance d of a circular charge with radius R as
indicated in Fig. 1.25. the charge is positioned parallel to the XY plane, centered at z = d with
uniform charge density A. To calculate the field at distance d, which is the origin in our case, we
first calculate the electrical potential using equation 1.79:

dg 1
Vp = / e (1.97)
circular—charge 47{80 r

with r = v/R? + d? the distance to a piece of charge dg = ARd¢. Rather straightforward we obtain:

AR A R
0 4megVR2+d2 | 280 VRE+d2

3there will be an exciting exercise in the second year course on "Numerical Physics’

Vp = (1.98)
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e ———> =
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i
© p=(0,0,0)

Figure 1.25: A circular charge positioned parallel to the XY plane, centered at z = d with radius R
carries a uniform charge density A. Point P, that coincides with the origin is also indicated.

When we define the total charge Q = 2TRA, the above expression becomes:

0 1

Vp= — ——— 1.99
P e VR R (1.99)
We can now obtain the electrical field from the potential using £ = — V-V. The general expres-
sion for V somewhere along the z axis is:
1
V(e) = -2 (1.100)
4ne \/R? 4 (z —d)?
For the electrical field follows:
7 av_ JdvV _ IV,
= _ X —yV — —
dx dy YT ¢
d 1
= 0X—-0y— 0 2 (1.101)

40 0z /R + (z—d)?
0 (e—d) .
4mey (R2+ (z—d)?)3/2

Of course, this result can also be obtained from direct integration, but that requires a somewhat
more complicated integration. Just do it and check the result!

The electrical field of a dipole

Another example where the electrical potential makes life easier is the calculation of the field of
an electrical dipole. Figure 1.26 shows a electrical dipole configuration, consisting of two opposite
point charges at a distance 2d. The potential in a point P(r, 0) has a contribution from the positive
and negative point charge. Thus,

g 1 —q1

VP(}",G) :V++V_ = —

— 1.102
dmegry 4Ameyr— ( )
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Figure 1.26: An electrical dipole consisting of two opposite point charges at distance 2d.

with r1 the distance between the corresponding point charge and point P. When r >> d we can
make the approximation:
ry =r¥dcos(0) (1.103)

Verify this yourself. For the potential in P we obtain:

_q 1 B 1
Ve(r;6) = 4me (r—dcos(e) r—l—dcos(@)) (1.104)

We can simplify this expression, using a ’cunning’ trick. Multiply the nominators and denominators
with r+ dcos(8) and r — dcos(8) respectively and realize that (r +dcos(0))(r —dcos(0)) = r* —
d*cos*(0). Remember that we work in approximation r >> d and thus r> — d?cos?(0) ~ r*. The
leads to

q 2dcos(0)

dmey 12

2qdcos(0)

47'580?‘2

pcos(8)  p-7  p-T
Amegr?  Amegr:  Ameyr?

VP(I‘, 9) =

(1.105)

where p = ch?. The quantity p is called the dipole moment. Mathematical dipoles have distance
d — 0 and g — oo, such that p = 2qd remains constant.
Now we determine the electrical field by taking the gradient of the potential:

. . . [ BT
Ep = —VVp=-V.
P P (47158()}’3>

_ 1 ( 9 xpu+ypy+2p )

4mey \ Ox r3
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_ U (e 3x(xpetypytzp:)
47580 1’3 1’5 yeeemraaaeas yereennanas
1 —p+37(7P)

- 1.106
4me r3 ( )

The drop of the magnitude of the field with 73 is characteristic for a dipole field.

The potential of a line charge

Several examples convinced us starting with the electrical potential simplifies the calculation of the
electrical field. The following example shows that we have to be careful.

We calculate the electric potential of an infinitely long line charge in point P by integrating over
all charge on the line ( see Equation 1.79):

dq
Vp = 1.107
P line 47[801" ( )
We put the line on the z-axis and thus dg = Adz. Hence,
oo A
Vp = / ——dz (1.108)
T Amegy/rh+ 22
A
= Ire In(z+V'1+22)|*2 = undefined! (1.109)
0

How can this be? Well, remember our definition of the potential in equation 1.81 and also look
at equation 1.78. We have taken the gauge-point of the potential at infinity, which has been a
reasonable choice for charge configurations with a potential vanishing at infinity. However, the
potential of the infinitely long line charge doesn’t.

In this case we have to obtain the potential by integration of the electrical field. In Section 1.3.4
we calculated the electrical field at radial distance r of an infinitely long line charge:

E(7) = 7 1.110
()= 5rer” (1110
and thus
v, /P E-d7 kl()P (1.111)
=— -dr = ———lIn(r .
P cauge Y € gauge
When we choose gauge-point r = 1 we obtain:
Vo= in(r) (1.112)
= — nr .
P 21e

But isn’t it bizarre that we can just choose a gauge? Perhaps it is, but remember that the potential is
not a physical quantity. The electrical field is a physical quantity and also the potential difference
in two points, which is even easily measurable, and these quantities remain independent of the
gauge-point.
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1.5.5 The energy of a charge configuration

We have already discussed that the work needed to bring one point charge, ¢ from infinity to a point
P in the field of another point charge equals:

P - P o
U:W:—/ qE-dl:/ gV -V-di = qVp (1.113)

oo oo

qz ‘%‘
o e

qfo\-
Q3

Figure 1.27: Illustration of a collection of point charges.

Figure 1.27 shows a collection of point charges. To determine the energy of a charge collection
(of point charges) we have to calculate how much work is required to assemble such collection.
The first charge takes no force (there is no field yet) and thus physically no work is done. To place
the second charge, we require W = ¢,V (r12) = 4—2&)%‘2, where r, represents the distance between
charge g and g;. When we bring in the third charge we feel the field of the first an second charge,

thus:

q e
Wz = g3V \% = 1.114
3 =q3V(r3) +q3V(rs3) = g3 (47‘[80r13 + 47T£0r23> ( )

The total energy of our collection so-far is

q192 q193 9293 (1.115)

Wiz =W +Wo+W3 =0
123 IAMEME +47178()I”12 4717801’13 4717801’23

For a collection of N point charges we find:

N

WN:liZﬂzlzq'V(r') (1.116)
2 i:lj;éi47r80rij 2 =1 ' '

Note that all combinations of g; and ¢ ; appear twice, which is accounted for by the factor % Another
remark we have to make is that the self-energy to make the point charges is completely ignored in
the above expressions.

1.5.6 The energy of continuous charge distribution

For a volume charge density we can generalize Equation 1.116 and obtain:
1
W=_- pVdy (1.117)
2 Jvolume

Consider the following question of a smart student. There appears a contribution from the charge
pdv, sensing its own potential in infinitesimal volume dv. Such contribution from the self energy is
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not present in equation 1.116. Wouldn’t this contribution lead to unphysical results? To check the
size of this contribution, we imagine that our continuous charge distribution consists of infinitesimal
charged spheres. We calculate the self energy of a uniformly charged sphere with (infinitesimal)
radius R, due to its own potential (see equation 1.96):

1 1 (R pR> prr.
Ww. = = Vicidedy = — — —=—)4nrd
self 3 spherep inside@V 2/0 P( 2¢ 680) Tr-ar
1 (R 4wp’R*r*  4mp?r
= 5[ -2 Dyar
2 Jo 2€&y 6&
1 (47tp2R5 47rp2R5)
2% 65 30g
4p?R’
= — 1.118
15¢ ( )

Remember that our sphere is infinitesimal (R — 0) and thus the contribution W,;; = 0. Hence,
equation 1.117 correctly represents the energy of a continuous charge distribution.

1.5.7 The energy in the electrical field

Starting point is the energy of the continuous charge distribution.

W=—- pVdy (1.119)
2 volume
Substitute Gauss’s law V --E = p /&
80 - -
w=2 (V--E)Vdv (1.120)
2 volume

We can further simplify this expression. Therefore we first consider the expression:

IEY)

Vo(EV) = =50

= (V--EW+E-(V-V) (1.121)

<t
=
=
|
o5}
A
=
N——
Q.
<

&
wo= 2 (
2 volume

& - - - -

- & (V--(EV)+E-E dv
2 volume
8 = - =3

- & (V--(EV) dv+@/ (Ez)dv (1.122)
2 volume 2 volume

Using Gauss’ Theorem 1.58, we obtain:

w=2% (Ev) a5+ 2 Edv (1.123)
2 sur face

volume
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The integral of the surface equals zero. Why? Suppose we consider the field of a point charge. The
electrical field drops with 1/r? and the potential with 1/r. We can write:

/ dd-EV ~ d5-1/r3z/ dodOsin(0)1/r (1.124)
sur face sur face sur face
We should consider a surface enclosing all space, thus r — o and thus

/ dodOsin(0)1/r =0 (1.125)
sur face
Finally, we obtain for the energy of the electrical field:

& -
W= / E2dv (1.126)
volume

E,V and Energy of a spherical surface charge

In Section 1.3.4 we calculated the electrical field of a charged spherical surface (or shell) with radius
R and charge density o. We found that outside the shell:

o OR?
E=Er= —2r r>R (1.127)
Er

Inside the the sphere no charged is enclosed and thus E, = 0.
What is the potential as function of r? We use V (r) = — [ E - dI and write:
OoR* ch
/ dr— 5=—— r>R (1.128)
Er

Now, calculate the potential inside the sphere (where the electrical field is zero):

R, T, OR
V(r):_/ E-dl—/E-dl:V(R)—l—O:g— r<R (1.129)

You could always check the results for the potential by calculating the electrical field using E=
—V V. The results for the electrical field are also shown in Fig 1.28, where you can see that inside
the surface the electrical field becomes zero, while the potential is constant, V (R).

V-E

R

Figure 1.28: The electrical field and the potential of a spherical surface charge
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Now we can calculate the energy of this configuration in two ways. We start with the expres-
sion for the energy based on the potential (equation 1.117). The volume charge density p is zero
everywhere, except on the spherical surface where it is . Hence,

1 1
w = = pVdv — - oV(R)do (1.130)
2 Jvolume 2 sur face
1 R 1 R o’R3
- - 6o = ~4nr?6 2t = 2n (1.131)
2 surface €0 & &

The other expression for the energy with the electrical field in quadrature (equation 1.126) should
yield the same result. Let’s check that.

wo= 2 Bav=2[ B
volume >R
_ 80/ _ 4mey i (R2 2 1
SR 12 80 2 J>R g ~ r?
4mey R?c,—1 ., o’R3
_ "l s 1.132
S (1132)

as expected.

1.5.8 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You understand the definition (and the derivation) of the potential:

P —_
Vp:—/ E-di (1.133)
gauge
For a point charge, the potential is given by:
Up 0 1
Vp= L == 1.134
P= T Ine ( )
e you can also calculate the electrical field given the potential, using E=-V-V.

e you understand how we derived the energy of a charge collection:

N
49iq, 1
==Y qV(r) (1.135)
L_Zl ]Z#l 47'580?‘l'j 2 l:ZI
e For a continuous charge density the energy is given by:
1
W= pVdy (1.136)
2 volume
or, alternatively:
w=2 B 1137
B E volume ’ ( ' )

which you can apply for a spherical charge density.

In addition, make the corresponding exercises of this section, which you can find in Appendix A.
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1.6 Electrical fields in matter

So-far, we considered electrical fields in vacuum. Usually we started with some (symmetrical)
charge configuration and then we calculated the electrical field, its potential or energy. What if we
place (electrically neutral) objects in the electrical field? What happens inside those objects and
what is the effect on the electrical field in and outside the object? In this Section we will discuss
these questions and more.

1.6.1 The Conductor

What is a conductor? For our purposes a conductor is an object that conducts electrical currents
because the negative charge carriers (electrons) can move freely inside the material. The number
of the free charge carriers is unlimited. Materials that approach these ideal properties are metals
like iron, copper and gold. If the conductor is electrically neutral, it contains an equal amount of
negative and positive charge. The positive charge is always bound and thus cannot move freely
through the material.

Given the above we can deduce what happens when a conductor is placed inside an electrical
field as illustrated in Fig. 1.29.

L Extern
e fei +Q

Figure 1.29: A conductor is placed in an extern electrical field.

e What is the electrical field inside a conductor? Suppose there is an electrical field in the con-
ductor. Then, the free electrons would be subjected to the electrical force and start moving.
Well, they may do for a short time when the field is just turned on, but we discuss only elec-
trostatic situations. There is only one stable solution to our question and that is that there is
no electrical field inside a conductor!

e How can the field be zero inside a conductor? Well, suppose the electrical field is just turned
on. Then some free electrons will be attracted by the electrical force and flow to the surface
of the conductor (they can not escape). This process goes on till the electrical field inside
the conductor has vanished, or better, the original field gets canceled by the field of the free
charge sitting on the surface and the nett positive charge that keeps its original position *. In
general, the nett positive charge will appear on the opposite surface with respect to the side
of the free negative charge.

e What is the charge density inside the conductor? We know now that the field inside the
conductor is zero. Hence, V --E = p /&y = 0 The charge density p inside the conductor must
be zero. Thus, any nett negative or positive charge must sit on the surface(s) of the conductor.

4This is always possible in one, and only one, way based on the "uniqueness theorem’. The derivation of this theorem
is beyond the scope of this course.
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e What about the electrical field on the surface? Suppose there is an electrical field along the
surface of the conductor. The free charge carriers will immediately ’respond’ and flow into
a configuration with no electrical charge along the surface. Hence, there are no electrical
field components along the surface of a conductor. Now suppose there is electrical field
perpendicular to the surface. The charge sitting just on the surface will be attracted or repelled
by the field, but it cannot move inward or outward the conductor. This is a stable situation
and thus there can be an electrical field just outside an conductor perpendicular to its surface.

e Is there a potential in a conductor? No, there can’t be, because V(a) —V (b) = — [ f E-di=0.
At any place inside or at the surface of a conductor the potential is constant.

# | characteristic why

1 | E =0 inside a conductor otherwise charge starts moving.

2 | p =0 inside a conductor V.E=0= p/€o.

3 | charge sits on the surface where-else could it be?

4 | V is constant inside a conductor | V(a) =V (b) = — [ f E-dl=0.

5 | Field lines leave the conductor | otherwise the surface-charge starts

perpendicular. moving.

Table 1.1: The conductor rules.

Table 1.1 summarizes the electric characteristics of the conductor. So, we know now what
happens if we place a conductor inside an electrical field. Well, not really. The (original) field
outside the conductor also changes and we have not discussed that. This is a though problem to
solve without a general solution. When there is an obvious symmetry in the configuration we can
give the solution. It will take a lot of practice to adopt a *feeling’ for these configurations. Anyway,
the examples in the following paragraph help you to get started.

A conducting plate in a uniform electrical field.

a) original b) charge equivalent

PUU— PR
+ -

— - ——

E external E external
G— - —
— - P
G— + - —
C— + - —
P + = C——

Figure 1.30: a) An infinitely large conducting plate is placed in an external electrical field in the z
direction. b) The physical equivalent charge configuration on the plate.

We start with a given uniform electrical field E.yermq in the horizontal (z) direction and then
place an infinitely large conducting plate as shown in Fig. 1.30a. After a few nanoseconds an
electrostatic configuration exists. What is the resulting electrical field?
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Start by applying the rules of conductors (Table 1.1) to get the nett charge configuration. Then,
with the charge configuration we can calculate the electrical field everywhere using standard tech-
niques as we have been doing the past Sections.

So, we know that the nett charge will sit on the surface (rule 2 and 3). We can replace the plate
by the electrical configuration as shown in Fig. 1.30b. This situation is physically equivalent. Of
course we also need to know the amount of charge, or better, the charge density 6_ and 0. We
started with a neutral plate, so for sure 6 = 6, = —6_. According to rule 1, the field inside the
conductor shall be zero. Hence, in the region where the plate resided, the electrical fields from the
charge densities have to cancel the external field:

Ein—plate = 6 = Eexternal + E(—) + E(+) (1138)

We have already calculated the electrical field of a flat surface charge: £y = g—;, which we substitute
in the above expression:
__ . —06, O,
0= EcxiernaiZ+ 26 267 (1.139)
from which follows:
0 = &|Eexternal| (1.140)

Note that the (vector) contribution of the positive charge has acquired a minus sign, because it points
in the negative z direction, which is also illustrated in figure 1.31 (for the sake of the argument we
made the external field vector fit just inside the plate). Inspect the figure yourself and verify that the
field inside the plate gets canceled. Outside the plate the contributions of the positive and negative
charge density cancel and hence the field outside still equals Eyernar!

ennanan i]...E."...p ..... ‘.E._.. !
A .*? ...... T T
B P 1 P S <
B P hdveaens g
AR .*? ...... P ITTTIT
B P 1 P S <
B P o tldennane L
A .*? ...... T T
ovsssoasiidsesssadp nnnnnnnany
eronanan deenens e S
AR et dawaans P ITTTIT
4........_JE‘......* ..........
" Eexteral
g e ? [, a_

Figure 1.31: The electrical field contributions inside the plate form the external field and charge
densities 6 and o_ respectively.

Finally, we remark that inducing two layers of opposite charge on a plate requires work. The
work is performed in the small timespan before reaching the equilibrium. The external field gets the
“energy bill’. From equation 1.126 we can seen that the energy difference comes form the volume
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inside the plate where the original field has vanished. Thus, for a plate that has a height 4 and
thickness d, the energy difference is:

&hd -,

ernaldv = 2 Eexternal

£ o
_ 2

ext,

U (1.141)

N 2 volume—plate
(of course we demand & >> d such that we can ignore edge effects.) You can verify yourself that
this equals the work needed to separate the positive an negative surface charge.

A grounded conducting plate

We can also consider a grounded plate. This means that the plate is connected to the earth. For
this purpose the earth should be seen as an unlimited source of charges. Thus the earth can pump
electrons in or out the plate at no cost without acquiring any net charge itself. Furthermore, the
potential of the earth is usually defined to be zero and grounded objects are at the same potential.

Figure 1.32 shows a grounded plate (as you can see from the piece of wire that ends in the
special symbol for ground), together with its charge distribution.

1111

Figure 1.32: A grounded conducting plate is placed in an extern electrical field. Note the interna-
tional symbol for ’grounding’ indicated in the figure.

The surface charge Ogoundcd, needed to cancel the electrical field inside the plate, can be easily
calculated using similar steps as above:

Ogrounded = _2£O|Eexternal‘ (1142)

But why reaches the plate an equilibrium without any positive net (surface)charge as in the previous
example. Well, as mentioned above, to make a positive and negative layers of charge work is
performed, which requires a force. In the grounded’ case all the necessary electrons are provided
for free by the earth. Note that the field outside the plate has drastically changed. In fact, the field
becomes zero everywhere left from the negative surface charge and it doubles on the right side.
This also affects the energy in the field dramatically. Of course, the earth is not really an unlimited
source of electrons and we have to know all the details to calculate the complete energy balance.
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Hence, in practice this cannot be done. In the scope of this course, our ’responsibility’ ends with
checking that all rules for conductors are satisfied. Check that yourself.

A spherical conducting shell with a point charge inside

-
+ - _+ - E

— — — ™
= o

+ T
+

Figure 1.33: A positive point charge is positioned in a conducting shell with inner radius R; and out
outer radius R,,.

We consider an electrically neutral conducting shell with an inner and outer radius of R; and R,
respectively. We have put a positive point charge ¢ in its center as shown in Fig. 1.33. What is the
charge density in the shell and what is the electrical field everywhere in space?

It is amazing that we can answer this question given such little information for such a com-
plicated configuration. But we can, again just by using the rules for conductor (and all the stuff
we learned before). Rule nr. 1 tells us that in the meat of the shell (that is between R; and R,) the
electrical field of the point charge should cancel. This can (only) be achieved by induced charge
on the inner and outer surface. since we started with an electrically neutral object, there must be
a similar amount of induced negative and positive surface charge,6; = —0, on the inner and outer
surface respectively.

The question is now how to calculate the o; = 43—1"‘? (or equivalently ¢,). Well, we have calcu-

lated the electrical field of a spherical charge density before (see equation 1.46):

2

- OR*
Qo .
= — 7 r>R 1.144
4717801"2r ’ ( )

and E = 0 inside the shell. When we add the contributions of the point charge, the negative charge
density on the inner shell and the positive one on the outer shell, we find inside the conductor:

= % (%+%+O>f (1.145)
We conclude that Q; = —¢ (and Q, = —Q; = ¢q). Note that the charge densities on the inner
and outer surface, besides the sign, are also in magnitude not the same: o; = —¢q/(4nR?) and
0, = q/(4mR?). Check yourself that all rules for conductors are fulfilled.
What are the consequences for the electrical field everywhere in space outside the conductor?
Well, the field is just the field of the point charge. We could say that the presence of the conductor
has not disturbed the outer field at all!
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Finally we remark that we have been able calculate the induced charge relatively easily because
off the large symmetry in this problem. Most notably is that all contributions to the field, i.c.:
that of the point charge, the surface charge at R; and the charge at R, all have radially pointing
contributions. For a weird shaped conductor in an external field you can try, just for fun, to make a
sketch of the charge distribution on its surface.

Method of images

A powerful technique to calculate the electrical field in many situations is the method of images’
using a “mirror charge’. This method relies on the fact (not derived here) that the electric potential
is uniquely defined inside some volume

with a given charge density inside the volume, and,
with given value of potential at its boundary surface.

In such case we may change the original charge configuration outside the volume by an alternative
configuration respecting the boundary conditions. Inside the volume the electrical potential of the
alternative configuration equals that of the original configuration. You may have to read the previous
sentence twice. Outside this volume, the potential of the original and alternative configuration
generally completely differ. In the following example we will see the strength of this method.

We consider a grounded plate and place a point charge g at a distance d as illustrated in Fig. 1.34.
The point charge induces charge on the plate surface with an a priori unknown distribution. For this
example the plate is infinitely large and infinitely thin What is the electrical field everywhere? Well,

Figure 1.34: A grounded conducting plate is placed in the field of a point charge q. The point charge
is positioned at z = d and the right surface of the plate is located at z = 0.

on the right side of the plate (z > 0) we have a volume with a given charge density (the point charge)
and we know the potential at the boundaries: V = 0 at the plate and at infinity.

So, we can use the technique of the mirror charge. We have to keep the point charge, but can
remove the plate if we can find a charge configuration that gives the same potential V = 0 at the
boundary z =0 and z = 4. As the name of the technique suggests, put a mirror charge (—q)
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at z = —d which leads to the configuration shown in figure 1.35. Are the boundary conditions

Figure 1.35: An alternative charge configuration, existing of a electrical dipole.

fulfilled? At z = 0 the contributions to the electric potential of the two charges cancel and at infinity
(by the way: only positive z is relevant in this case) the potential is also still zero. The resulting
configuration is an electrical dipole which we have seen before. Hence, we know the potential for
z > 0 now. But what about the potential in the region z < 0. This is outside the our volume with
known boundary conditions. It is certainly wrong to use the potential for a dipole in this region!

The trick is to go back to the original configuration and first determine the charge density on
the plate. For z > 0 we know the potential is given by:

1 q q
Vix,y,z) = - (1.146)
(5:3,2) 4meg <\/x2+y2+(z—d)2 \/x2+y2+(z+d)2>

The corresponding electrical field can be calculated using E (x,y,z) = —V -V (x,,2). For the field

at z =0 we find:
- 2
E(x,y,0) = < d -2 (1.147)
e \ (@ 452+ (@))]

as you can check yourself. Now we know the electrical field (for z > 0) which allows us to the deter-
mine the charge density on the plate using the relation % = E(on the plate) - 2 (see equation 1.42).

Hence,
o(x,y) = L d (1.148)
X = — —_——x .
)= an (2+y2)3 )’

which, together the the point charge at z = d determines the physical situation.
We have discussed when and how you can use the method of images and we will conclude this
section by summarizing this method:

o Check the following. the potential should be known at the boundaries. Inside the boundaries,
the charge density should be known as well.

e Find an alternative charge configuration outside the the boundaries that respects (together
with the charge density inside) the boundary conditions.
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e Calculate the potential of the alternative configuration.

e If required, you can calculate the original charge configuration using the potential (or electric
field).

There is no general concept that returns the alternative configuration and it probably became clear
to you that it needs some experience to find such configuration.

1.6.2 Capacitors

We take two parallel plates of conducting material and charge the plates with opposite charge as
indicated in Fig. 1.36. The plates are separated by a distance d. We ignore the thickness of the
plates and assume that the plates have a large surface A with respect to d. We have calculated the

| NRRER
m Hmm
l r!'r'r'rlr'ﬁ'

Figure 1.36: Two parallel plates of conducting material. The plate have opposite charge Q and are
separated by a distance d. The contribution to the electrical field of each plate individual is also
indicated.

electrical field for an infinitely large flat surface charge already in Sec. 1.3.4, which provides a good
approximation for the present configuration with A >> d. We can write:

E=_"%3 27 X5 (1.149)

The electrical field is constant and points away from the positive charged plate. The contribution
of the negative charge obtain an additional minus sign, because if it would be a positive charge the
field would point in the negative z direction. Make sure you understand this argument.

The potential difference between the plates is given by:

V:V+—V:—/_+E-dz_——Q/ (1.150)

What we have shown now, i.c. the potential difference between the conductors is proportional to Q,
is generally valid for capacitors.

Is the behavior V ~ Q independent on the shape and size of the conductors? Yes. Suppose
you take two conductors of arbitrary shape and size as illustrated in Fig. 1.37. The electrical field is
proportional to the charge density in, or better on, the conductors. The charge density is proportional
to Q. V is proportional to E and thus also to Q.



1.6. ELECTRICAL FIELDS IN MATTER 47

Figure 1.37: A capacitor, consisting of two conductors with bizarre shapes.

Capacitance

We have seen that V ~ Q. Now we introduce a a constant of proportionality called capacitance, C,
such that

C== 1.151
v ( )

The capacitance depends completely on the geometry of the electrical configuration. For the con-
figuration with the two plates, we have shown that C = ATEO. The larger A and the smaller d the
more charge can be stored in the configuration for the same potential V. The unity of capacitance is
called Farad (=Coulomb/Volt), denoted by F. In practice C, measured in Farad is numerically small.
For our plate configuration withd = 1 mm and A = 1 m, C =9 x 10~!! F. In the newspapers a few
years ago, there was an item about a small capacitor with C = 1 F, but I haven’t figured out yet how
to make that. Let me know if you find the ’trick” on the web.

The energy of a capacitor

We start with an uncharged capacitor and move electrons from one conductor to the other to charge
it up. The electrons ’sense’ the electrical force in this process. Hence, moving them requires energy.

The energy needed to bring some charge dg to the other conductor is dU = V(q)dgq. With
V(g) the potential difference between the two conductors as function of the already moved charge
g. Since the capacitance C is a purely geometrical quantity we can write V(g) = ¢/C and thus
dU = daq. The total energy of a charge capacitor is then given by:

qdq ¢ 10> 1_ ,
U=[av=| EL=-_L12__= _ v 1.152
/ 0 2¢O T2 ¢ 2 (1.152)

with Q and V the final charge and potential of the capacitor respectively.

Examples of Capacitors
Cylindrical configuration

Figure 1.38 shows a cylindrical configuration, consisting of two coaxial conductors with length L.
The inner conductor has a radius a. The outer radius is » and is much smaller than the length. The
conductors have opposite total charge Q. What is the capacitance of this configuration?
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Figure 1.38: Two coaxial conductors. The inner and outer conductors have radii a and b respec-
tively. The conductors have opposite total charge Q.

e First, determine the electrical field in the space between the two conductors. We may assume
that L >> b which implies that away from the edges the field is radial. The charge density on
the inner conductor is 0; = 27:% We calculate the flux through an imaginary small cylindrical
Gaussian surface and obtain:
o;2nal

&

E2mrl = (1.153)

Note that in between the conductors there is no contribution to the flux (and field) from the
outer conductor. The electrical field is £ = %f

e The potential difference between the two conductors is given by:

a, 4 0;a o;a o;a
V:—/ E-df:—/ Zdr=—"In(r)¢ = —Zin(b/a 1.154
b [ tr= -2l = Lmiof) (1159

e Now we know the potential and it becomes a ’piece of cake’ to obtain the capacitance:

0 2ral.o;& 2mLey
c_2_ _ 1155
V = Galn(bja) _ In(bJa) (1.155)

Like the plate-capacitor, the capacitance of this configuration increases when the distance between
the two conductors becomes smaller.

Spherical Capacitor

We now consider a capacitor consisting of two spherical surface of a conducting material with
radius b. In its center we placed a conducting sphere with radius a. The conductors carry opposite
charge Q. What is the capacitance of this configuration? To calculate the electrical field we use a
spherical Gaussian surface with radius r such that @ < r < b. For the electrical field we obtain:

E=""_p (1.156)

Now we calculate the potential difference between the conductors:

a a ga? ca? ca®,1 1
V:_ EdA:— —d = |9=—_"_" (= __ 1157
/b g b Eor? d &or 15 & (a b) ( )
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Figure 1.39: A spherical capacitors. The inner conductor has radius a and the outer one has radius
b. The conductors have opposite charge.

for the capacitance follows:

0 Anaoe ab
=—=—=—F——""-=4n—— 1.158

V  od®(1/a—1/b) "b—a (1.158)
Note that the capacitance is independent on V and/or Q and thus is indeed a purely geometrical
quantity.

1.6.3 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You understand the properties of a conductor.

e When a conductor is placed in an electrical field you can identify the surface charge densities
and calculate the resulting electrical field.

You understand the basics of the mirror charge technique

You can explain what capacitors are and deduce the relation:

_e
c=7 (1.159)

You can calculate the the capacitance of a parallel plate capacitor.

The energy of a capacitor is given by

1
U= ECVZ (1.160)

In addition, make the corresponding exercises of this section, which you can find in Appendix A.

1.7 Insulators

All matter that cannot be classified as a conductor we call an insulator. In insulators there are
no free electrons to cancel the electric field inside the *bulk’. However, by polarization of the
molecules and atoms inside an insulator there is some cancellation of the field. When an atom
polarizes we can discriminate between a positive and negative side. For this reason, insulators are
historically referred to as ’dielectrics’. The properties and behavior of dielectrics in electrical fields
are discussed in this Section.
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1.7.1 Polarization of atoms and molecules

What happens microscopically when we electrically polarize an atom? The classical picture of an
atom is a big positive nucleus surrounded by tiny electrons orbiting it. For our purpose, that is
electrostatics, we adapt this picture by taking the "average’ of the atom over time. Yes, you need
some imagination, but this leads to an atom consisting of a small positive nucleus in the center of a
uniform cloud of negative charge. Consider the illustration in Fig. 1.40. When we apply an external

—

£=0

elektronenwolk
uniforme bol (R)

-Q E=0
bolsymmetrisch
= dipoolmoment

Figure 1.40: A view of an electrostatic atom. It consists of a positive nucleus surrounded by a
uniform cloud of negative charge. The cloud has radius (R). Left: Unpolarized, the nucleus is
centered; Right: Polarized, the nucleus is shifted away from the center of the cloud. This results
effectively in a dipole.

electrical field E as is depicted in the right figure, the negative charge is attracted, while the positive
nucleus is repelled. Consequently, the nucleus is shifted by a distance d with respect to the center
of the cloud. We have assumed that the spherical shape of the cloud is conserved. The net effect is
that we produced an electrical dipole with moment j = od.

To good approximation the dipole moment is proportional to the external field: p = od =
aE, with proportionally factor «, called the ’polarizability’. Table 1.2 lists some experimentally
obtained polarizabilities. As expected, the factor o grows with increasing charge Z. For water vapor

Atom Z | a (10739 m?)
Helium 2 3

Neon 10 5
Argon 8 20
Water vapor | - 500

Table 1.2: Several examples of the polarizability for some atoms and water vapor.

we observe that « is relatively large. Such a-typical behavior points in the direction of a different
physical mechanism. Indeed, there is an additional effect in water vapor and other so called *polar’
molecules. The electrons in water molecules are attracted by the positive oxygen nucleus, more
than by the hydrogen nuclei. The result is that water (and other polar molecules) have a built in
electrical dipole moment. Figure 1.41 shows what happens when these molecules are placed in an
electrical field. The dipole moments of the water molecules are aligned by the external electrical
field which leads to the relatively large polarization factor o.

In this Section we have discussed two different microscopic effects leading to polarized mat-
ter. We have postulated a straightforward relation (p = aE) between a new phenomenon called
polarization an the external electrical field. In Electrostatics however, we do not care about this
macroscopic behavior so much. We only want to describe the behavior of the fields, averaged over
all atoms, as we will see in the follow Section.
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Figure 1.41: Left: Water molecules without electrical field. the electrical dipole moment of the
molecules is indicated. Right: Water molecules in an external electrical field. The dipole moment
of the molecules are aligned by the electrical force.

1.7.2 Macroscopic Polarization

What is the electrical field in a dielectric when put in a known external field? Forget for the mo-
ment the atoms and molecules in the dielectric and put on your ’abstract glasses’. In electrostatic
theory, dielectrics consist of infinitesimally small electrical dipoles. A dielectric can be electrically
polarized by putting it in an external field E as illustrated by Fig. 1.42.

—»
£,
—
—
—
—_—
—> — —»
E fofa/: Eo +Epal

Figure 1.42: A dielectric in an external electric field Ey. The microscopic dipoles polarize (polar-
ization P). The resulting total field is given by the sum of the original external field and that of the
polarized dipoles.

Inspired by the microscopic view (see previous Section), the polarization per unit volume is
defined as the polarization P which we assume proportional to the electrical field:

B=¢eyx.E (1.161)

The factor of proportionality ¥, is called the electrical susceptibility for historical reasons. We say
that the dielectric is /inear when this equation is valid. In general it is valid for relatively small
electrical fields. Note that the word linear in this context is not related to shape of the dielectric;
it describes an electrical property. In this expression, the electrical field E = Epa, the total field,
which usually leads to confusion and/or mistakes! It is the sum of the external field and the, yet
unknown, field from the polarized dipoles (E pol)-

What is the field of the polarized dipoles? Well, the polarization leads to net charge separation.
When we can quantify this charge, that is, determine the charge configuration, we know how to cal-
culate the field using standard techniques. So, let’s try to find the charge density inside a dielectric
first.

Have another look at Fig. 1.42. Inside the the dielectric there is macroscopically no net charge.
The dipoles are aligned in chains of positive and negative charge and all the *+’ are canceled by *—’.
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However, this is not the case at ’the start and end of the chains’, at the boundary of the dielectric. At
the left side, all the chains start with *—’, while at the right side all chains end with ’+’. There is a
net charge separation at the surface of the dielectric. Note that the charges themselves are localized
in contrast with the free charge in a conductor. For this reason, the net charge at the surfaces of a
dielectric is called bound charge. The amount of bound charge is given by the polarization:

Opound = P -1 (1.162)

Let’s put in a small intermezzo. The above Equation 1.162 is sufficient for linear dielectrics;
there cannot be any bound charge inside the dielectric. However, more generally the relation be-
tween polarization and charge is given by:

-

Pvound = —V - -P. (1.163)

It says that there is bound charge inside an dielectric when the polarization inside a dielectric is not
constant. In such case there is no (perfect) cancellation between positive and negative bound charge
inside the dielectric in contrast to a linear dielectric. At the surface of any dielectric this relation
transforms to Equation 1.162. In this reader, like in many textbooks, we further only consider linear
dielectrics, unless stated otherwise. This ends our small intermezzo.

In principle, we can now deal with a dielectric (with known J,.) placed in a known original
external field Ey:

1 the (yet unknown) polarization P determines the (bound) charge configuration (Equation 1.162),

2 the charge configuration determines the contribution £, to the electrical field, enabling us
to calculate E;,,

3 E,uq fixes the polarization (Equation 1.161).

To you, it all may look a bit circular, but in the following Sections we will discuss some examples.
There is one suggestion to consider: memorize the three Equations above (and their meaning)!

The electrical field in a flat dielectric

We consider a flat dielectric with a given ¥, and we place it in a known uniform electrical field Eoin
the z direction as shown in Fig. 1.43. The dipoles in the dielectric polarize, leading to a polarization
P. The bound net charge on the surfaces of the dielectric is according to Equation 1.162:

-

o,=P-Ai=P (1.164)

Hence, we have a configuration of two oppositely charged flat surfaces, which leads to an electrical

field:
- —Opol
pol
Epol = 4

(1.165)

Here we simply used the formula of a plate capacitor, derived in Section 1.6.2 (but I am sure, you
could derive it yourself by now).
In the dielectric, the (total) electrical field is now:

E = E()—I—Epol
EO - c;pol/g()
= Ey—Pley (1.166)
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Figure 1.43: A piece of dielectric in an external electric field Eo. The microscopic dipoles polarize
(polarization P). The resulting bound charge at the surface is also indicated.

Using equation 1.161 we can write

E=Ey—y.E = Ey (1.167)

That’s it!
The susceptibility . for glass and plastic like are of order 10. For water the susceptibility is
about 80.

Plate capacitor with dielectric

Consider a plate capacitor with a dielectric in between its plates as illustrated in Fig. 1.44. The plates

+++++++++++++++Z€ Id

Figure 1.44: A plate capacitor with dielectric in between the plates.

have surface A and are separated by a distance d. The dielectric has an electrical susceptibility J..
Given the free charge Q.. on the plates, what is the electrical field in the dielectric and what is the
capacitance of this capacitor?

Wow! That looks like a tough question, but in fact it isn’t. Just cut the problem in relevant
pieces and you will see that you already can solve all pieces one by one.

Starting point, the first piece, is an empty capacitor. Thus the same configuration as already
discussed in Section 1.6.2. We repeat our results (you should be able to derive these results by
now):

=] eree A c;free N
Eempty = As = 8—Z
0 0
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. d
Vempty = - /_ Eempty -dz = EQj'ree
eree 80A
C = = 1.168
empty Vempty d ( )

The second step is to place the dielectric between the plates. The field inside the empty capacitor
is relevant external field for the dielectric. In fact we have placed a dielectric in an external field
just like we have already seen in the previous Section and according to equation 1.167 the field

becomes:
1 - 1 Gfree A

—FEoupiy = ——=
Ut D) "~ 1) & °

So-far, so good and we go to the next piece. We can calculate the potential between the plates
by integration of the electrical field (just like we have done for empty capacitors):

E= (1.169)

+ 1 d 1
- _ E-di=————Qte = ——Vommrv 1.1
v /_ d (xe+1)Aeon (xe+1)V ” (170

for the capacity follows:

EA

_ Qfree _ (e + 1)7 = (e + 1) Compry (1.171)

C
Vv

In textbooks the following definition is often used
(xe+Dep=c¢ (1.172)

With this definition most expression related to dielectrics become similar as the expression in vac-
uum after substituting € for &.

Note that the capacitance between the empty and ’filled” capacitor is just the factor (. + 1).
Thus, for a plastic fillings the capacity grows with a factor of order ten.

1.7.3 The electrical Displacement

To describe electrical fields inside dielectrics, we had to thrown in several new ’electrostatic objects’
like the polarization P and the bound charge, p,. The question may arise: is Gauss’ Law valid inside
a dielectric or should it be adapted? The answer is that Gauss’ Law is always valid, but we should
be careful. Consider Gauss’s Law once more:

&V--E=p (1.173)
Realize that E in Gauss’ Law always is the total electrical field and p is the total charge density:

&V -E = Ppree+ s (1.174)

where p e is the charge induced on an conductor surface or the charge needed to create an external
electrical field. (Keep in mind that we often discussed examples where we put a dielectric in an
external field. Well, the external field comes not for free: it is the effect of free charge somewhere.)
Using Equation 1.163 we can write:

= = =

g0V -E=pfre—V--P (1.175)
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or equivalently,
V- -(&E +P) = Pfree (1.176)

Now define the dielectric displacement D=gkE+P. Itis just a matter of definition, but D has an
important feature:

VD= Dfree (1.177)
It is Gauss’ Law for *field’ D that only depends on the presence of free charge. Also the integral
form of Gauss’ Law is valid:

/ B-dd =
closed—sur face

Combining the formula’s in this Section you can derive that Dis also proportional to the (total) field
E:

o)

(1.178)
free—charges—enclosed €

D=¢E+P=¢E+exE=(x.+1)&E =€k (1.179)

This mathematical approach completes the theory on electrical fields in matter.

1.7.4 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You can explain how a dielectric is polarized in an electrical field, resulting in a net bound
charge at its surface.

e The relation between the polarization and the electrical field is

P=¢gyx.E (1.180)

e With this relation you can calculate the electrical field in a parallel plate capacitor filled with
a dielectric:

- 1 — 1 Gfree
E=——" F = b4 (1.181)
(Xe + 1) oty (Xe + 1) &
You can also show that the capacitance is:
C = (Xe+1)Compty (1.182)

The capacitance of the filled capacitor is larger than that of the empty capacitor.

In addition, make the corresponding exercises of this section, which you can find in Appendix A.

1.8 The icons of Electrostatics

Throughout the previous Sections we deduced, described, discussed and derived the aspects of
electrical fields in vacuum and matter. The resulting field equations are listed in Table 1.3. Never
forget that we started with Coulomb’s empirical Law, based on experiment and constructed the
theory on electrostatics around it.
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Comment | Integral Differential
Gauss fvurface E-do= fvolume %d" Y ‘E = 5_0
fclosed—lineE dl=0 VXE=0

Table 1.3: The complete set of field equations for electrostatic theory.



Chapter 2

Magnetostatics

2.1 Basic concepts

Magnetostatics aims at the description of all phenomena that involve non-changing magnetic fields.
Qualitative knowledge about magnetostatics has been around for many centuries: it is possible to
use a magnet needle to make a compass without knowing how to quantify magnetic processes. In
this section some basic concepts of magnetism are discussed.

In electrostatics you are familiar with the fact you have positive and negative charges. The
charges for magnetostatics always come in pairs. In a magnet one side is the magnetic-positive
side, while the other side is the magnetic-negative side. The magnetic-positive side we like to call
the "north-pole’ and the magnetic-negative side the ’south-pole’. Off course this naming is derived
from our own earth, which itself is a permanent magnet. Forces between magnets are such that a
north- and a south pole attract each other, while there is a repelling force between two poles of the
same kind.

Now you could decide to cut a magnet in half, just between the north- and the south pole, in
order to obtain a north-pole and a south-pole separately. The result of your experiment, however,
will be that you will have indeed two magnets, both with a north AND a south pole (see Fig. 2.1).
You can repeat this as many times as you like, but the only thing you will succeed in, is to get many
more small magnets. As far as we know no magnetic monopoles exist!

Also it is well known that compared to gravity the magnitude of the magnetic force is huge. It
is very common for even small magnets to lift little (or sometimes big) pieces of iron, against the
gravitational force from the whole earth!

In addition there exists an intricate relation between electrical currents and magnetic field, which
will become clear further in these lecture notes. The unit of a magnetic field is called the Tesla, and
it can be described in terms of other units as:

[Testa] = [N]/([A][m]) = [N][s]/([C][m]) = [ke]/([C][s]) 2.1

with [A] = [C]/[s] an electrical current, and [N] the unit of force.

2.2 Lorentz force

2.2.1 Experimental basis and formulation

The Dutch physicist Hendrik Antoon Lorentz was the first to quantify the movement of an electri-
cally charged particle inside a constant magnetic field. Just as Coulomb’s law that describes forces
57
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Figure 2.1: Cutting a magnet in two pieces will only result in creating two magnets, each with
a magnetic north- and south pole. You can repeat cutting, but you will not create a magnetic
monopole.

in electrostatics, the law for the force caused by a magnetic field is based on experimental data:
1. The Lorentz force is proportional to the strength of the magnetic field;
2. The Lorentz force is proportional to the electric charge;
3. The Lorentz force is proportional to the velocity of the object it acts on;

4. The Lorentz force is proportional to the sine of the angle between the velocity vector and the
speed vector;

5. The Lorentz force is perpendicular to both the velocity direction and the direction of the
magnetic field;

This list of experimental data can be elegantly translated into the following mathematical statement,
that fully describes the force of a magnetic field B on a moving object with charge ¢ and a velocity

Vi
F=gixB (2.2)
The X in equation 2.2 represents the ’cross-product’ between two vectors. With our knowledge of

the cross product we can prove that the Lorentz force actually obeys the experimental data as listed
above. The magnitude of the Lorentz force is given by:

=3

IF| = qlvxB)|
= ¢[V||B|sin® (2.3)

with 0 the angle between the magnetic field lines and the velocity vector. From the last equation it
can be seen that the first four experimental requirements on the Lorentz force have been fulfilled.
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2.2.2 The direction of the Lorentz force

When it comes to proving that the Lorentz force fulfills the last requirement things are slightly
more complicated, since we now have to calculate the direction of the force. Remember that for
electrostatics the electrical force was just proportional to the size and direction of the electrical field.
For the Lorentz force this is not the case, since we are dealing with a cross-product of two vectors.
Now we have too look into the detail of the cross-product: what is the direction of the result vector?
First we will work out mathematically what is the direction of the field. The cross product between
any two vectors V = (vy, vy, v;) and B= (Bx,By,B;) can be calculated by evaluating the following
determinant (try this yourself and you will be a commander of cross-products!):

[N

£ 03
¥xB = Ve vy Vg
B, B, B,
= (WB;—v:By) £+ (v;Bx —v(B;) $+ (viBy — v,By) Z
VB, —v.B,
= v.By — VB, 2.4
viBy — vyBy

This general equation might not tell the full story of the direction of the Lorentz force directly, but
we can prove that the direction of the force is both perpendicular to the velocity vector and the
magnetic field vector. Two vectors are perpendicular if their inner product equals zero (remember:
A-B=A||B|cos 8), so we have to validate that:

=

F-v=0 (2.5)
We can explicitly calculate the inner product using equation 2.4 as follows:

F-¥ = ¢qFxB)-¥
= q(vB,—v.By) vy +
q(v;Bx —viB;) vy +q(viBy — v,By) v,
= gB(v;vy —vyv;) +gBy(—v vy +v,vy) + gB(vyve — vivy)
=0 (2.6)

Following similar tactics you can now prove yourself that the Lorentz force is also perpendicular
to the magnetic field In fact you then have proved a general property of cross-products between
vectors A and B:

(
(

Note that the second statement follows directly from the first, because of another property of the
cross-product:

0 2.7
0 (2.8)

~—

oo TR ]
b NN
oL Sot

~—

X
X

AxB=—-BxA 2.9)

Prove this!
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2.2.3 A force without work

A very important consequence of the fact that the Lorentz force is perpendicular to the velocity
of an object, is that the Lorentz force does not do any work. To understand this a bit more in
detail we have to recall our definition of work W being done by a force. It has been defined as the
displacement in the direction of the force, or as an equation:

W= [ F.dl (2.10)

line

This can be rewritten with a change of variables as:

W= [ F-vdt (2.11)

line
The last equation is clearly zero due to equation 2.5. The consequence of this is that if a charged
particle moves through a magnetic field its energy does not change, since that requires work done.
So the only thing that does change is the direction of the velocity. This is really special to the Lorentz
force: all other forces you have thus far encountered, like the Coulomb force or gravitational force,
do actually work.

2.2.4 The right-hand-rule

Now it is time to get a clearer understanding of the direction of the Lorentz force by studying a
simple example. Let’s look at a configuration with a magnetic field B= (0,0,B) pointing in the
Z direction and a particle with charge ¢ moving with velocity Vv = (v,0,0) in the £ direction. The
equation now becomes much more explicit and clear:

F =—qvBy (2.12)

You can verify that all requirements on the Lorentz force as mentioned before are still fulfilled
(sin% = 1!) and also you can see that the direction of the Lorentz force can be obtained without
calculation, by using the (in)-famous ’right hand rule’. Stretch out your hand and make your thumb
point in the direction of V. Point your other fingers in the direction of the magnetic field B. The
cross-product V X B is now pointing out of the palm of your hand. Exercise this a couple of times
and you will never make any mistakes in pointing out the direction of cross-product. Be however
careful that a negative electric charge does flip the direction of the Lorentz force by 180°.

2.2.5 Example: force on a wire

What happens if you place a wire of length L carrying a current /, inside a homogeneous magnetic
field, B (see Fig. 2.2)? The direction of the force can be found using the right hand rule. The
electrons move in the opposite direction as the current, but they have a negative charge. So the
direction of the force is the direction of the cross product of T and B. The size of the force is
calculated by integrating:

\1_7' | = dq(¥ x B)

line

= Adl(V x B)

line

= dI(T x B)
line

= LIB (2.13)
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Figure 2.2: A wire with length L is placed inside a homogeneous magnetic field B with field lines
pointing out of the paper.

We have used the fact that the line charge density A multiplied by the velocity of the electrons gives
the electrical current /. So we now have an equation that tells us that the Lorentz force of a magnetic
field on a wire carrying a current / is equal to:

dF = di(I x B) (2.14)

2.2.6 Current loops & Magnetic dipoles

Now let us consider a square wire loop with sides of length L carrying a current /, placed in a
homogeneous magnetic field B (see Fig. 2.3). The forces on each of the sides of the loop can be

Figure 2.3: A square wire loop with sides L and carrying a current I is placed inside a homogeneous
magnetic field B.

calculated in the same way as shown in the previous paragraph:

- =

F =L(IxB) (2.15)
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It can be seen that the net force on the wire loop is zero, since the forces on top and bottom of the
loop cancel each other, just as the forces on both of the sides. However, there is a torque on the
current loop! The torque, 7, exerted on for example the left side of the loop is just the size of the
Lorentz force times the *arm’ the force. So:

L
7= (LIB)7 sin6 (2.16)

In he right side of the loop the Lorentz force points in the opposite direction, but the arm of the
force also points in the opposite direction. So the total torque becomes:

7= L?IBsin® (2.17)

Notice that the bottom and top sides of the current loop do not contribute to the torque. The Lorentz
force is certainly pulling of the wire there as well, but it is trying to stretch the wire loop instead of
trying to rotate it (try to understand this yourself).

At this point it is instructive to rewrite equation2.17 as the following cross-product:

T=mxB (2.18)

where 7 is the magnetic dipole moment of the current loop. The direction of the magnetic dipole
moment is perpendicular to the plane spanned by the wire loop. Its size is just the current multiplied
by the surface area:

|| = L*1 (2.19)

The torque exerted on the wire loop tries to rotate it such that it is perpendicular to the magnetic field
lines. In terms of a magnetic dipole moment we can make a more general statement: a magnetic
field tries to set magnetic dipoles parallel to the magnetic field lines.

2.3 Biot-Savart’s law

Now we have learned in the previous section how to calculate the force exerted by a magnetic field
on a moving charge, we have to know how to actually calculate a magnetic field. Magnetic fields
are caused by electric currents. An expression that relates the magnetic field, Bp, in a point P to an
electric current, /, is called the law of Biot-Savart:

. I [ dix?
Bp= 1t / <7 (2.20)
A7 Jline r2

The integration is done along the current path in the direction of the flow; d T is an element of length
along the wire and 7 is the direction vector from the location of d T and the point P as is sketched in
Fig. 2.4. Try to verify by using the right-hand-rule that the magnetic field due to the infinitesimal
wire element in Fig. 2.4 is pointing into the paper. When using Eq. 2.20 you should realize that
along your integration path both dl, 7, and r may change, both in magnitude and direction! To
master this equation practice is mandatory.

The constant L is called the magnetic permeability which is defined as:

4N
Uy =47 10 7/? (2.21)
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Figure 2.4: Variables needed to calculate the magnetic field in a point P due to an infinitesimal wire
element with length d! at a distance 7.

A remarkable thing happens when the magnetic permeability is multiplied with the electrical per-
mittivity €. Remember that &y was defined as:

1 C?
Y. BV ] 2.22
0= 11072 Nm? (222)
The multiplication leads to:
1
=2 (2.23)
€Mo

with ¢ the speed of light. This amazing results indicates that there might be a special relationship
between electric and magnetic field. This relationship will be unveiled toward the end of this course.

2.3.1 A wire with a current

With Biot-Savart’s law we are now able to calculate the magnetic field for any current configura-
tions. So let us start with the calculation of the magnetic field of a relatively simple example: an
infinitely long wire carrying a current / (see Fig. 2.5). We could start calculating like blind chickens
at this point, but we can also use symmetry arguments to argue what the direction of the field must
be. The cylindrical symmetry of this example excludes the existence of a radial component to the
magnetic field. We can try to argue that this is impossible by making a ’gedanken’ experiment: we
can rotate the infinitely long wire by 180° so the current is now pointing in the downward direction.
As can be seen in the law of Biot-Savart changing the sign of the current would result in flipping the
sign of the B field. However, the rotation of the wire leaves the radial component of the magnetic
field pointing in the same direction as before. So there can exist no radial magnetic field in our
example. The component of the magnetic field pointing along the direction of the wire drops out
because the contribution coming from the current at z < 0 is canceled exactly by the contribution
from the current at z > O (try to prove and visualize this yourself).
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Figure 2.5: Wire carrying a current I. The magnetic field is calculated at a point P at a distance r
from the wire.

So the only component of the magnetic field that is not equal to zero is the component in
the azimuthal, ¢, direction. Its size is calculated with Biot-Savart’s law 2.20, but we have to be
extremely careful how to fill in the variables in the equation. Let us consider the magnetic field
caused by an infinitesimal line element dz first (see Fig. 2.5): the magnitude of the magnetic field
in point P due to this line element is:

" Mol |dZ|sin ot

|dBp| = pra (2.24)
There are a couple of variables in this equation that at first might seem a bit strange. First there is
the 7% + z? term, while you would expect a r? term if you look at the Biot-Savart law. But in fact
the 2 + 22 is correct since it is the distance between the line element dz and the point P. So the r in
Biot-Savart’s law is a very different r than is used to indicate the radius in cylindrical coordinates.
The same is the case for # which indicates the unit vector in the direction of the line element dz and
the point P, and thus also has nothing to do with the radius in cylindrical coordinates. You must
think very well before just using a formula! The sin & comes from the size of the cross product:

|dz x | = dzsina (2.25)

where « is the angle between dz and 7. It can be geometrically worked out to be:
r
sinet = —— (2.26)
V2472

Now we can calculate the magnetic field adding the contributions from all line elements to the

magnetic field.
Bp| = / dB,
line
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B Hol /+°° dz r

o oAn e P22

_ Ml = |7
AT V42 .
Uol

= = 2.27
2nr ( )

The integral over z you do not have to be able to solve yourself. If you encounter such an inte-

gral at any point we will provide you with the answer. However you can verify the answer by
differentiating the one but last equation.

2.3.2 Two parallel wires

We can now consider a configuration with two parallel wires with length L at a distance R} each
carrying an electrical current, I} and I,,respectively (see Fig. 2.6). We can calculate the magnetic
field at the position of the second wire, due to the current in the other wire using equation 2.27. The

Figure 2.6: Two wires with electric currents both generate a magnetic field. The magnetic fields
result in a Lorentz force on the wires.

equation for the Lorentz force on a wire (Eq. 2.13) tells us that:

|B| = L|(hxB) (2.28)
oL 1

= 2.29

27L'R12 ( )

The calculation of the size of the cross product is fairly easy since there are only 90° angles involved
in this example. I leave it up to you to show that the Lorentz force between the wires is attractive if
the currents point in the same direction.
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2.3.3 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

24

Magnets always have a north- and a south pole. Magnetic monopoles do not exist;
The Lorentz force of a magnetic field on a moving charge is:
Fr=g¥xB (2.30)

Make sure you can figure out both the size and the direction of the Lorentz force. For the
direction make sure that you are comfortable with the right-hand-rule;

The Lorentz force on a straight wire segment is:

- -

F =L(I' x B) (2.31)

The torque on a current loop is:
T=inxB (2.32)

where 771 is the magnetic dipole moment;

The law of Biot-Savart can be used to calculate magnetic fields that are caused by line cur-

rents: .
B I [ dix?
Bp= Kot / X7 (2.33)
A7 Jline r?

Intermezzo: Current densities

In the previous section we used currents all the time. Just as for electric charges it is often instructive
to talk about current densities instead of currents. We can speak of line, surface, and volume current
densities (see Fig. 2.7). A line current is defined as the charge density per meter, A, times the

b c) s
a) ) 7

Figure 2.7: Different types of current densities: a) shows a line current density, b) a surface current
density, and c) shows volume current density.

velocity of the charges:

T=A¥— [I] =C/s =A (Ampere) (2.34)
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The size of the current is just the magnitude of the vector 1. The corresponding Lorentz forces are
calculated as:
Fp=| IxBdl=1| IxB (2.35)
line line

For surface currents the situation is similar (see Fig. 2.7b):

. di
K = — 5 K]=A/m (2.36)
dl,
= oV (2.37)

To obtain a current one now has to multiply the surface current density, K, with the length of the
surface. Or to be more precise one has to integrate the current density along a surface if the current
density is not a constant. The Lorentz force is now:

=

F= / R x Bdo (2.38)
surface

Biot-Savart’s law can be used again to calculate the magnetic field resulting from a surface current
density:
— R(@)xd
ot [ KO)xd,, (2:39)
4T Jsurface d
where the integration is over the surface carrying the current, and d=7-7.
Most frequent you will encounter volume currents, J, which are defined as:

P A
= dOL—>[]]—A/m (2.40)
— v (2.41)

The differentiation with respect to do, gives a vector pointing through a surface: the size of Jis the
current per unit area perpendicular to the flow. For example take a wire with radius R and a current
1. If we now assume that the current density is homogeneous, we can obtain the current density J,
by simply dividing I by the surface 7R? of the wire. The direction of Jis along the direction of
current flow. The Lorentz force can be calculated through the volume integral:

=

F= / J x BdV (2.42)
volume

Try to prove this last equation yourself. Once more Biot-Savart’s law can be used to calculate the
magnetic field resulting from a volume current density:

S Lo J@)xd _,
B=— _ 2.4
47 Jyvolume d? v 243)

where the integration is over the volume carrying the current, and d=7-7.

2.5 Ampere’s law

We now know how to calculate magnetic fields in any configuration using the Biot-Savart law in
principle. We can have a closer look at the properties of magnetic fields to see if there are laws,
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like Gauss’s law for electrical fields, that can simplify our calculation of magnetic fields in certain
cases. Let us go back to the magnetic field of a wire carrying a current:

Bl e g o (2.44)

B, —
Y Tt

We can take a circular path around the wire, so that the line integral:
/ B-dl = pol (2.45)
line

where the [ represents an integral in a path around the wire. In fact the path does not have to be
a circle; any path around the wire will give exactly the same answer (can you prove this one? see
Griffiths section 5.3.1). We can generalize this law a bit further to obtain:

-

/B-d?:uo/ J-dd (2.46)
line surface

This equation is known as the law of Ampere: it states that the integral of the magnetic field along
a closed path is equal to the total current that is enclosed by the path. We have seen that it is true
for a thin wire carrying a current. It can be explicitly proven, using the Biot-Savart law and the
superposition principle, that it is true in general for any current density causing a magnetic field.
(see Griffiths section 5.3.2).

The law of Ampere is always true, but for calculation of magnetic fields it is useful only if there
is a high degree of symmetry in the configuration you want to solve. The reason for this is that in
that case the line integral [ Bd can become easy to solve. This is especially true if you know that
the magnetic field over your integration path is constant, since the magnetic field then drops out of
the integral, or in an equation:

/ Bdl—B | dl (2.47)
line line
In the next sections we show a selection of examples where the magnetic fields can be calculated in
a fairly easy way, using the law of Ampere.

2.5.1 Thick wire with a current

In the previous section you have already seen how Ampere’s law can be used to calculate the
magnetic field outside a wire. Now let us consider a wire with a radius R carrying a current I
distributed homogeneously over the wire (see Fig. 2.8). The current density J in this case is just the
total current divided by the surface of a cross-section through the wire:

-

- 1
J=— 2.48
TR? (248)
From the symmetry of the problem we can conclude that the magnetic field only has a component
pointing in the azimuthal (¢) direction, and that it only depends on the radius r. Ampere’s law
inside the wire now reduces to:

Bdl = u / Jdo (2.49)
line surface
2
B-2mr Holr (2.50)

R2
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Figure 2.8: A thick wire of radius R carrying a current I that is homogeneously distributed.

so that the magnetic field in the ¢ direction as a function of r now becomes:

Holr

(2.51)
Outside the wire you can show (see previous section) that the magnetic field is the same as for an
infinitely thin wire. Off course if you do not see the cylindrical symmetry in a problem like this
you can always use the law of Biot-Savart to calculate the magnetic field. The advantage is that
you are always right to use this law, the disadvantage is that you will have to calculate much more
complicated integrals. Remember for example how much work it was to find the magnetic field of
a wire with the Biot-Savart law!

2.5.2 Plane with a homogeneous current density

As a next example of the Ampere’s law we calculate the magnetic field of an infinite plane carrying
a current density K (A/m) as shown in Fig. 2.9. The plane is lying in the y — z plane and the
current is flowing in the y direction. Since we know that magnetic fields to be perpendicular to the
currents causing them, the magnetic field cannot have a component in the y direction. From a clever
symmetry argument we can also show that the component of the B-field perpendicular to the plane
must also be zero. Suppose there were a component of the magnetic field in the x direction. Then
rotate the whole (infinite!) plane 180° around the x axis. The current is now pointing in the opposite
direction, while the x component of the B-field is unaffected. This is a clear contradiction and thus
the x component of the magnetic field must be zero as well. We are only left with a magnetic field
parallel to the plane in the z direction.

Now we can use Ampere’s law to calculate the magnitude of the field, by constructing an imag-
inary rectangular path as shown in Fig. 2.9. Along this path we can again calculate the integral
Siine Bdl. The sides of the rectangle that are perpendicular to the plane do not contribute to the line
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Figure 2.9: An infinitely big plane with homogeneous current density K.

integral since we just showed that the magnetic field does not have a component perpendicular to
the plane, so we are left with the two sides that are parallel to the plane. So:

Bdl = 2aB, (2.52)

line

Ampere’s law tells us that this integral should be equal to pg times the enclosed current. So we can
now solve the B field:

2aB, = uoKa (2.53)
U 2.54)
B. — ‘%K (2.55)

So the field is homogeneous on either side of the plane. Only the sign of the magnetic field flips
(try to confirm the direction yourself by using the right-hand-rule).

2.5.3 The Solenoid

An even more complicated configuration that is made simple by Ampere’s law is the solenoid.
A solenoid is an infinitely long cylinder of radius R over which a wire carrying a current / is
wrapped around with N windings per meter (see Fig. 2.10). We can start-off with a couple of
symmetry arguments to reduce some of the components of the magnetic field to zero, just as we
did before for the infinite plane. First there can be no component in the ¢ direction, since it is
parallel to the current. Secondly, suppose there is a radial component to the field. Then by rotating
the cylinder around the x axis over 180° the current is now going in the opposite direction and the
radial component of the B field is unaffected: contradiction! The radial component of the field can
only be zero, so we are left with only a z component.

Let’s first calculate the field outside the solenoid. We can take the line integral around a path
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Figure 2.10: A solenoid with radius R and current I running through N windings per meter.

indicated by 1 in Fig. 2.10. There is no enclosed current so Ampere’s law reduces to:

Bdl=0 (2.56)
line
We can safely assume that the magnetic field should go to zero when the far end of the integration
path goes to infinity. In that case we only get a contribution to the path integral from the line piece
at r = r. Since the total integral needs to be zero, this can only be true if the field itself is zero. So
outside a solenoid the magnetic field is zero!
The field inside we can obtain by integrating the B-field along the path indicated by 2 in
Fig. 2.10. The only contribution to the integral is from the path inside the solenoid parallel to the z
axis. The enclosed current is simply:

Lenclosed = aIN (2.57)
Ampere’s law is now written as:
Bdl = g Jd3 (2.58)
line surface
B.a = palN (2.59)
4 (2.60)
B, = WIN (2.61)

A surprisingly simple answer for such a complicated configuration.

2.5.4 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You should be familiar with line, surface and volume currents;
e You should be able to calculate the Lorentz force on these different kinds of current densities;

e You should be able to write down and use Ampere’s law to calculate magnetic fields in situ-
ations with a high degree of symmetry.
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2.6 Field equations

In this section we will give an overview of the equations that give a full description of electro- and
magnetostatics. In order to do so there is one more bit of mathematics you need to know.

2.6.1 Stokes’ theorem

The last bit of math you need to know before we can complete the theory of electro- and magnet-
icstatics is the theorem of Stokes. In electrostatics Gauss’s law (see section 1.3) gave a relation
between surface integrals of the electrical field and a volume integral of a charge density. It turns
out that for the line integrations you encounter in magnetostatics a similar type of relation can be
found. For any vector field the integral around a surface is equal to the curl of the vector field
integrated over the surface:

/ A’-di:/ (VxA)dd (2.62)
line surface

We will not rigorously prove Stokes theorem, but we will try to give a more hand-waving argument
to make it acceptable to you. Assume you have a vector field Ax, y, z) and you want to calculate
the path integral of the vector field around an infinitesimal small loop in the plane z = 0 as shown
in Fig. 2.11. The line integral f}; . Ad is then split up in four parts, with a contribution from each

Ax,y+dy,z) Alx+ax y+dy,z)
Alx.y,
Sl Ax+adx y,z)
ay,
4
(A
1 ax

Figure 2.11: Vector field integrated along a path enclosing an infinitesimal loop in the xy plane.

of the sides of the little square. For each of the sides we must think what d I should be, especially
paying attention to the plus and minus signs. Along path 1 dl = (dx, 0, 0), along path 2 we move in
the positive y direction so dl = (0, dy, 0). Paths 3 and 4 are in the —x and —y direction, respectively,
so they pick up a minus sign with respect to paths 1 and 2. So the line integration becomes:

o o X+dx y+dy
Adl = / A, y)dd + / Ay(xy)dy — (2.63)
line X y
X y
/ Ac(x,y+dy)dx — / Ay(x,y+dy)dx’ (2.64)
x+dx y+dy

Notice that I have left out the z index everywhere since z = 0 anyhow. The first component can be
calculated explicitly:

x+dx 1
[ A DY = S (A x0) + A+ dy))dx 265)
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If you do this to all four terms and then collect the A, and A, terms together (go ahead and try) you
will find that:

.. dA, A,
| Adl = dxdy( 5 -=7) (2.66)
= (VxA).do (2.67)
(VxA)-do (2.68)

For a non-infinitesimal path in the x —y plane we can write the surface integral as the sum of
many infinitesimal surface integrals as shown in Fig. 2.12. Using the theorem we just derived

edge

- O

global

local

Figure 2.12: Many infinitesimal path integrations make up a big one. Notice how only the boundary
integration remains.

for infinitesimal path integrals, you can see from the figure each side of the infinitesimal loop
borders to another infinitesimal loop that gives exactly an opposite contribution to the path integral,
except when the loop is at the border of your integration area. That is how the relation between a
total surface integration and the path integral around the surface comes about. In this context it is
instructive to think of the the curl of a vector as a little whirlpool around it: then it becomes easy
to see why Stokes theorem makes sense. You have to notice that we really did not give any general
proof of the theorem. We restricted ourselves to integration in the xy plane, and certainly not any
surface. For a more rigorous proof please refer to any vector analysis textbook.

2.6.2 Stokes theorem: example

At this point it is worth to go through an example in which we can apply Stokes’ theorem. Suppose
we want to calculate the path integral over a circular path with radius R and center x = y = 0 for a
vector field A that is parametrized as:

- a0 (2.69)

In Fig. 2.13a you see what the vector field looks like. So what about the line integral? The vector
field is just the unit vector in the ¢ direction so:

A-dl = / dl =27R (2.70)
line circle
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a)
: A(X,y,z)
(i

Figure 2.13: In Fig. a) you see a drawing of the vector field A, in Fig. b) a drawing of VXA.

According to Stokes theorem we could also calculate the curl of this vector field and then do the
integration over the surface spanned by the path. So first the curl of the vector field:

. £y ¢ d x 0 y
Vx4 = |a o o |=3Z + 2 ) 2.71)
Ax A);, AZZ ) vV .X2 +y2 ay V + y

(2.72)

In Fig. 2.13b the curl of the vector field A is drawn. Now let’s calculate the surface integral of VXA.

= o =27
VXA= / —rdrd¢ 27R (2.73)
¢=0

disk r

Notice the factor r coming from the integration in cylindrical coordinates. The answer you get either
way is exactly the same, though the work has been considerably more extensive when calculating
the surface integral.

2.6.3 The curl of B

We can now use Stokes theorem to find an elegant differential formulation of the law of Ampere,
just as we could use Gauss law in electrostatics to go from Gauss’s law in integral form to Gauss’s
law in differential form. Recall Ampere’s law:

Bdl = o J-ds (2.74)

line surface

Stokes theorem (equation 2.62) now tells us that the path integral on the left hand side of equa-
tion 2.74 can be written as the surface integral of the curl of B. So equation 2.74 becomes:

/ (ﬁxé)-dazuo/ J-dd (2.75)
surface surface

This can only be true for any B if:
VxB=uyJ (2.76)
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Please realize that equation 2.76 is equivalent to Ampere’s law in integral form (equation 2.74);
there is really nothing new in this equation, except for the notation.
Now a little example. We have calculated the magnetic field for a thick wire with a current in

section 2.5.1 to be: 5
= fpd = e (nx0) r<k

~ 2nR? 27R?
(2.77)
B=1l4 r>R
We can explicitly calculate the curl of B inside the wire:
X 9 zZ 2
- o Uol
VxB=| d. 9, 0, 27rR2Z = uyJ (2.78)
-y x 0

Can you prove that outside the wire VxB=0?

2.6.4 The divergence of B

We have an expression for the curl of the magnetic field. What about its divergence? For electrical
fields we had Gauss’s law in differential form which stated that V - E = p/€. The divergence
of the E field at any point is equal to the charge density at that point. For the the divergence of
any magnetic field we could get a similar expression, by taking the divergence of the law of Biot-
Savart (equation 2.20), since Biot-Savart’s law is true for magnetic fields caused by any current
distribution. For such a proof see for example Griffiths chapter 5.3.2. However, we can actually
predict what V - B should be by comparing it to the same expression for the electrical field. In the
equation for V-E= p/¢€o you see that on the right hand side of the equation you find the electric
charge density. Since magnetic charges do not seem to exist, we can guess that:

V.B=0 (2.79)

This should be true for any magnetic field and it is indeed the answer you find by following the
explicit proof in Griffiths. Let’s see if it is true for the magnetic field of our good old’ thick wire
(see above). Inside the wire we have:

V-B = V. ;‘;;’;q) (2.80)
_ zféz(_axwayx):o (2.81)
Outside the wire:
V.5 - v.Hl (2.82)
r
_ %(_axgmyrx_z):o (2.83)

Notice here that we would run into serious problems if we would have chosen to calculate V- B for
a wire with zero thickness, due to the singularity in the B field at r = 0.

Now remember that Gauss’s law for electrostatics could be either written in the differential form
as shown above or in integral form:

- 1
/ Edo / pdVv (2.84)
surface 80 volume
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Or in words: the integration of the E field over a closed surface (i.e. flux) is equal to the total charge
enclosed. Since we know now that V- B = 0, we can write for the magnetic flux through any surface
with help of the law of Gauss:

Dy = / Bds (2.85)
surface

:/ V.BdV =0 (2.86)
volume

So the magnetic flux through any closed surface is equal to zero. This is another way of stating that
there exist no magnetic charges.

2.6.5 Summary: Field equations for E and B fields

At this point we know all there is to know about electrostatics and magnetostatics. For any stationary
charge distribution we can in principle calculate the corresponding electric field and for any steady
current we can calculate the resulting magnetic field (though the calculations are not always easy).
In addition we know how a charged particle behaves in these fields, since we have the equation for
the Lorentz force on a charged particle:

Frp=q(E+VxB) (2.87)

There are just four equations needed to calculate all electrical and magnetic fields. In integral form:

- 1
/ E-do = — pdV (Gauss law) (2.88)
surface &p Jvolume
/ E-dl = 0 (2.89)
line
/ B-dd = 0 (2.90)
urface
B-dl = o f-db'(Ampere’s law) (2.91)
line surface

Using Stokes theorem and the divergence theorem - just mathematical trickery - these integral equa-
tions can be re-written as the following set of differential equations:

V.E = £ (2.92)
£

VxE = 0 (2.93)

V-B = 0 (2.94)

VxB = puoJ (2.95)

That is all there is to know about electro- and magneto- statics; nothing more nothing less.

2.6.6 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You should be familiar with Stokes’ theorem relating line integrals to surface integrals
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e Ampere’s law in differential form:
V X B=uyJ (2.96)

e The divergence of the magnetic field is zero:

-

V-B=0 (2.97)

e You should know the four equations describing electrostatics and magnetostatics

2.7 Magnetic fields in matter

In this section we will try to explain what happens if matter is placed inside magnetic fields.

2.7.1 Paramagnetism: electron spin

Since every electron in matter has intrinsic spin it carries a little magnetic dipole moment with a
dipole moment:
_ geh
- 2m,

(2.98)

You can imagine the electron as a spinning electric charge, or a current loop if you want (see
section 2.2.6). Without a magnetic field (see Fig. 2.14a) these dipoles are randomly oriented, but if
a magnetic field is applied the dipole moments - and thus the spin vectors - try to align themselves
with the magnetic field. As a result of the aligned dipole moments the magnetic field is enhanced:
enhancement of a magnetic field in matter due to an applied magnetic field we call paramagnetism.
It seems that since every material contains electrons paramagnetism should be a universal effect

Figure 2.14: Alignment of electron spins in a magnetic field as a cause of para-magnetism.

for all substances. However the Pauli exclusion principle (quantum mechanics) does not allow
electrons in the same orbit to have their spins aligned. So as a rule of thumb only substances with
an odd number of electrons exhibit paramagnetism due to spin alignment, while for substances
with even number of electrons the effect cancels out. Even when a substance is paramagnetic the
alignment of spins is usually (room temperatures) far from complete due to thermal fluctuations. A
last point to remember is that as soon as the external magnetic field disappears, the paramagnetic
effect disappears, and the dipole moments are randomly distributed once more.
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2.7.2 Paramagnetism: Electron orbit

Just as the electron has a magnetic moment, so does the orbiting electron around the nucleus. Again
a current loop! This effect only gives a minute contribution to the paramagnetism, since it turns out
to be much harder to ’turn’ an entire orbit than it is to turn a spin.

=6  B=#0
Al
ﬂ 225

Figure 2.15: Alignment of electron orbits resulting in para-magnetism.

2.7.3 Diamagnetism

There is a second, more subtle, effect of a magnetic field on the orbit of an electron, for which we
will have to look a bit deeper into the centripetal acceleration that holds an atom together. Without
a magnetic field the centripetal acceleration is caused by the Coulomb attractive force alone. So:

1 & V2

H&‘Oﬁ == meE (299)

Now suppose there is a magnetic field, that is perpendicular to the plane of orbit of the electron
and opposite to the direction of the magnetic moment of the atomic orbit (situation shown to the
right side of Fig. 2.16). In that case the centripetal force is sustained by both the Coulomb and the

- § M m _B'
Ve
e 4 _
- - » e

Figure 2.16: Changing velocity of the electrons in a magnetic field resulting in diamagnetism.
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Lorentz forces. Equation 2.99 now becomes:
2 12
1 e / v

et =y (2.100)

By subtraction of the above two equation, and assuming that the change in velocity is small, we get
for the change in velocity (see Griffiths section 6.1.3):
, €eRB

-V R 2.101
v—v X ( )

When a magnetic field is turned on the electron speeds up and thus the magnetic moment increases.
If the magnetic moment would have been in the opposite direction as shown to the left side in
Fig. 2.16, the velocity of the electron would decrease, and thus the magnetic moment would de-
crease.

In both cases there is a change in magnetic dipole moment that is opposite to the direction of
the applied magnetic field. This effect is called diamagnetism. All substances show diamagnetism,
but in general it is much weaker than paramagnetism, so in general it is only visible when param-
agnetism is absent. In general this was shown to be the case for materials with even numbers of
electrons. Furthermore, the calculation as shown here does not always give a reliable result, it is
just made to make the argument clear. To get quantitative answers on diamagnetism a full quantum
mechanically correct calculation is required.

2.7.4 Magnetization and Bound Currents

In the previous section we saw the effects of magnetic field on matter on a microscopic scale. Now
we will give a macroscopic description of magnetic fields in matter. Let us first consider a cylinder
of para-magnetic material that is placed inside a magnetic field (see Fig. 2.17a). The magnetic field
- on average - aligns the magnetic dipoles in the material. So there is an average dipole moment per
volume element, which is defined as

-+ _ dipole moment (2.102)
volume

We call M the magnetization of the material. If you remember that a magnetic dipole is in fact
nothing else than a little current loop you can have a look on top of the cylinder (see Fig.2.17b).
You see all the current loops lying side-by-side and effectively only a current is running over the
edge of our cylinder. So in case we have a uniformly magnetized object, it can be described as if
there was a current running over the edge of the object. The magnetization of an object can thus be
interpreted as a surface current.

We can make the above argument more quantitative by considering an example in which a slab
of para-magnetic material is placed in a magnetic field (see Fig. 2.18a). We can have a look at the
dipole moment for each little block in the slab by multiplying the magnetization by the volume of
the little block . This should be equal to the effective current going around the block multiplied by
its area (remember that /71 = fArea). So:

d|M|Area = IyjpArea (2.103)

Now it can be clearly seen from the figure that neighboring blocks have sides carrying opposite cur-
rents, at least in case the magnetization is homogeneous. As a result there is an effective boundary
current which happens to be exactly Ipjocr. So:

Iboundary = Dpiock = |M|d (2.104)
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B

magnetization

Figure 2.17: Effect of a magnetic field on a macroscopic object.

The surface current density K is just the current per unit length:

|#|d
d
Figure 2.18b shows the equivalent situation for our magnetized slab of material. In a more general

notation our current density can now be written as the cross-product of the magnetization vector
and the normal vector to the surface:

K= = |M| (2.105)

Knag =M x it (2.106)

Finally if the magnetization is non-homogeneous there will also be an effective volume current
density (see Griffiths section 6.2), which is written as:

Tnag =V x M (2.107)

The vectors I?mag and fmag are what we call the bound surface and volume currents, respectively.
Please notice that these are some kind of effective currents, since no real charge is moved from one
place to another.

2.7.5 Linear materials

A material is called a linear material its magnetization is proportional to the magnetic field. In such
cases M is written as:
M=— %3 (2.108)
Ho(1+ 2m)
where ), is called the magnetic susceptibility, which is a measured quantity for each material.
Please note that B is not just the external magnetic field, but the field including the modifications
due to the magnetization (tricky):

B = By + Bo (2.109)
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Figure 2.18: Magnetization can effectively be described by bound current densities.

where Emag is the field due to the magnetization and By is the externally supplied field.

Example: Infinite bar

Consider a long para-magnetic (linear material) cylinder inside an externally supplied magnetic
field By as in Fig. 2.17. The surface bound current is written as:

Kinag =M x i (2.110)

The magnetic field due o the magnetization can be calculated with Ampere’s law assuming that the
cylinder is infinitely long (at this point you should be able to do the calculation yourself, so I don’t
do it):

Bynag = Mo|Kinag|? @2.111)

Now we can use Eq. 2.108 to rewrite this equation in terms of its susceptibility as:
Binag = XmBo (2.112)

So we can see that the total magnetic field inside the cylinder is modified with a factor (14 ).

Example: Infinite bar with free current

We are now considering the infinite cylinder once more, but now we are generating the external
magnetic field with a wire running around the cylinder (also see section 2.5.3). Suppose we have n
windings per meter and a free current / then the magnetic field due to the free current is:

Bo=nl% = Kot (2.113)

Now suppose we fill the interior of the cylinder with a linear magnetic material with a susceptibility
Xm» then we know from the previous example that:

B = (14 xm)Bo = (1+ xm)nl2 2.114)

So by inserting some material inside a magnet we have a way of amplifying (para-magnetic) or
damping (dia-magnetic) the resulting field.



82 CHAPTER 2. MAGNETOSTATICS

2.7.6 Ferromagnetism

Finally we come to the special case of ferromagnetism. In ferro-magnetic materials electron spins
really love to align with each other. Whereas for the normal paramagnetic materials the alignment
was far from perfect, for a ferromagnetic material the alignment can be almost 100%. Usually
there are little areas - so called Weiss domains - in which the spins are aligned (see Fig. 2.19), and
usually the effect of these areas cancel out giving no noticeable external magnetic field. However,

“Weiss"
gebiedjes

N

Figure 2.19: In a ferro-magnetic material there are domains where spins spontaneously align to
each other. These are the so called Weiss areas.

once an external magnetic field is applied all these domains can spontaneously align themselves to
the magnetic field. A small externally applied field can then result in a huge magnetic field from
the material. Another interesting property of ferromagnetism is what happens when the external
magnetic field is switched off. The alignment of spins might become less, but it does not disappear:
you have created a permanent magnet!

If for example our solenoid from the previous example is filled with a ferromagnetic material,
the resulting B field may be 100 times larger than the externally applied field. The effect is highly
non-linear as illustrated in Fig. 2.20, which shows the magnetic field as a function of the externally
applied field. First the B field grows rapidly as a function of the external field. Then at a certain

B

saturation

Figure 2.20: If the external magnetic field is removed from a ferro-magnetic material the magneti-
zation does not directly disappear. This non-linear behavior is called hysteresis.

point the dipole moments of all domains are aligned and there is no further increase in B (satura-
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tion). If the external field is removed, there is still quite some magnetic field remaining due to the
ferromagnetism. Only once the external field is fully reversed, the B field finally changes sign.

2.7.7 Knowledge and Skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

o In para-magnetic material the magnetization is in the same direction as the externally applied
magnetic field;

e In dia-magnetic materials the magnetization is in the opposite direction as the externally
applied magnetic field;

e A magnetized object can be effectively described with bound surface current density I—fmag
and a volume current density J,,qe, With:

Knag = Mxi (2.115)
Twag = VXM (2.116)

e Linear materials are materials for which the magnetization is proportional to the magnetic

field:
. A -

M= B
Ho(1+ Xm)
where ¥, is the magnetic susceptibility of the material.

(2.117)
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Chapter 3

Electrodynamics

3.1 Introduction

In this part we discuss the electric charge configurations and currents that are not constant in time.
We start with a study of the effects of and electromagnetic force acting on charge. This study allows
us to understand time dependent currents in electric circuits consisting of combinations of resistors,
capacitors and inductors. Our main quest is the time dependent behavior of electric and magnetic
fields, leading to an elegant description in term of the Maxwell equations.

3.2 Current and force

3.2.1 Why does current flow?

Current flows because something is pushing the charge carriers (electrons). And that something is
an electric (or magnetic as we will see later) force. Let’s analyze that. Consider a piece of wire made
of copper with a current density J as illustrated in Fig. 3.1. To make the electrons that constitute the

\J
Figure 3.1: A piece of wire made of copper with a current density J.

current a force f is needed. The force f is defined as a force per unit charge. For normal everyday
materials and current densities, the current is proportional to the force:

T=cf 3.1)

with o the conductivity ! depending on the material. Usually, in tables describing characteristics of
materials, one gives the reciprocal value of this quantity, called the resistivity p = 1/0.

The above expression looks reasonable at first sight, but when you think of it you may get con-
fused about the following. When a force acts on the electrons in the wire, one would expect that the

IHistorically the symbol & is used for conductivity, while we (and others) also use it for a surface charge density. So,
don’t get confused.

85
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electrons acquire more and more speed with time. Consequently, the current would increase with
time, which is not the case. Why not? Well, there appears to be a cancellation due to ’collisions’ of
the free electrons and the nuclei in the material. This effect, that manifests itself as a constant fric-
tion, is illustrated in Fig. 3.2. Right after the current starts an equilibrium between the accelerating
force f and the de-accelarating friction sets in.

Free electron

® — o— o—— |V|«time
—_
f Collisions
q . \ @ ..—".
oo .':’T‘.‘0.0 V] = constant
! : : ¢ » time (1)

Figure 3.2: Top: The free electron undergoes a force f Since it is really free its speed increases
rapidly with time. Bottom: Another electron that also undergoes a force f is constrained in a
material and collides with nuclei, such that it effectively senses a frictional force that cancels f
eventually obtains a constant velocity.

3.2.2 Ohm’s law

So far, we discussed the relation between force f and the current density J, without bothering about
the origin of it. The origin of the force f for our purpose is an electric field caused by any device
that establishes a potential difference, such as a battery, a van der Graaff generator or a dynamo. We
know that in general the electric force is given by F= qE . The force f was defined per unit charge,
thus we may write f = E. Now we consider a piece of wire with cross section A and length /. A
potential difference V over the wire leads to a current / as shown in Fig. 3.3. According to Ohm’s

V=V

Figure 3.3: A piece of wire with length | and cross section A. The potential difference V over its
ends leads to a current 1.

law, V and [ are related by:

<
I

IR (3.2)
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with R the resistance of the wire. This law is the subject of many physics lectures at high school.
Can we derive this law? Yes, in fact its derivation is rather straightforward!

For a perfect conductor, the conductivity ¢ = oo and thus E=1, /o = 0. For a real, everyday,
conductor the electric field inside may be zero for stationary charges, but certainly not for the
situation when current flows, like in our case. In our piece of wire the electric field is given by:

-V
= (3.3)
The current density in the wire can be written as:
— - = V
1= olfl =olE| =07 (3.4)
For |J] we write //A and obtain:
1 Vv
J=—=0— 3.5
J=5=07 (335)
and thus:
V= I _ IR (3.6)
oA~ '

with R = é. Hence, when we double the length [ of the wire the resistance becomes twice as
large. When we double the radius of the wire the resistance drops by a factor four. The conductivity
of copper is about ¢ = 6 x 107 (Qm)~!. A copper wire of 1 meter length and a cross section of
0.75 mm? has a resistance of about R = 0.02 Q.

3.2.3 Electromotive force

Figure 3.4 shows an electric circuit with a current density J. We know that a force f drives the

Figure 3.4: An electric circuit with current density J. The electric field and a battery (ﬁ) are also
indicated.

current through the wire. In the wire this force is an electric field, an electrostatic field. The field
through the wire is produced by the + and — side of a battery. We know from electrostatic theory
that [ . E-dl =0, and thus [, E-dl = — fbaneryﬁ .dl. Hence, the electric field in the battery
points opposite to that in the wire. Anyway, you may ask now: if the field integrals cancel each

other there is no net force, so there can’t be a current. Well, we forgot the force, f; delivered by the
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battery itself, which is a chemical reaction that maintains the electric potential over the 4+ and —
side. The total force that drives a current to a circuit is thus:

f=f+E (3.7)

Note that f is not constant in the circuit: fj is only present in the battery and E in the wire is
different from E in the battery.

The net effect of this force is the line integral over the circuit and is called the electromotive
force:

EMF = / f-df:/ (fo+E)-dl
circuit cicuit
= / fo-dl + E-dl
battery cicuit

- / 7,-dl (3.8)
battery

In an ideal battery there is no friction or net force on the charges and thus:

EMF = fy-dl = —/ E-dl=V, (: E-di) (3.9)
battery wire

battery

Hence, the electromotive force is just the potential (difference), Vj, of the battery.

3.2.4 Induced EMF

Consider the experiment of a circuit pulled out of an magnetic field with a speed V as illustrated in
Fig. 3.5. The movement of the circuit out of the magnetic field leads to an EMF. What is the source

B=0
F
i .
1 FLr’ V|=ds/dt (IighEbuIb .
Fi J z

Figure 3.5: An electric circuit with a light bulb with resistance R is pulled out of a magnetic field
B. The vertical height of the circuit is h. The length of the part of the circuit that is in the magnetic
field is labeled s. The Lorentz force on the positive charge carriers is also indicated.

of the EMF? It is the Lorentz force on the (moving) charges in the wire. In the figure the Lorentz
force on the positive charge carries is indicated, because that defines the direction of the current,
while in reality the Lorentz force on the electrons is the relevant driving force. The Lorentz force
in the horizontal pieces of the circuit point downward, perpendicular to the wire, as indicated. In
the vertical piece of wire in the magnetic field the charge carriers that constitute a current will be
pushed in the direction as indicated in the figure. The force per unit charge is f = ¥ x B. For the
EMF follows:

— — h -
EMF — f-dl:/ \Fldi = /|v><B\dl 17|B|k (3.10)
circuit 0
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Note that the horizontal pieces do not contribute to the EMF. The EMF generated by the movement
of the wire is called inductance. A potential difference over the light bulb is generated of size
Vina = EMF.

For reasons that become clear in a moment we study the flux of the magnetic field through the
circuit. The magnetic flux is given by:

ch:/ B-dd = Bhs (3.11)
surface

where s is the part of the circuit that lies in the magnetic field, which depends on the time when we
pull the circuit out of the field. The time derivative of the magnetic flux is given by:

d®g  d(Bhs) ds

il =Bh— = —Bhv = -V, 3.12
dt dt dt T G-12)
Hence, we found a relation between the EMF and the change of the magnetic flux:
do
EMF = —d—tB = —Vina (3.13)

This principle to create electromotive force is exploited by electric generators (dynamo’s).

3.2.5 Faraday’s law

—>=(—)b
V|=ds/dt }P r 7 .
— 1 ! FLl (ight-bulb .
F S l z

Figure 3.6: An electric circuit with a light bulb with resistance R is located in an magnetic field B.
At time t = 0 the magnetic field is pulled to the left.

Figure 3.6 shows one of the experiments Faraday conducted in 1831. In this experiment an
electric circuit is first located in a magnetic field. Then, at time # = 0, the magnet is pulled away
with a speed ¥. The height of the wire loop is & and vertical part of the wire that is in the area
of the magnetic field is s. An EMF leads to a current and the light bulb flashes, just like in the
“experiment’ when the circuit was pulled away described in the previous section.

We ask the same question now: what is the source of the EMF? Well, based on relativity princi-
ple, this is physics-wise exactly the same experiment as we did before. So, to calculate the EMF we
transform this experiment to the previous experiment and conclude that the EMF originates from
the Lorentz force.

Good, but no cigar! Let’s forget about the relativity principle and analyze this experiment
based on what we know already about electrostatic, magnetostatic and electrodynamics. We do not
transform to the previous experiment: physics-wise the results should be invariant anyway! In this
experiment there is no moving charge, so there is no Lorentz force as source of the EMF. We can
write:

EMF = f-di’:/ E.dl+0 (3.14)
circuit

circuit
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How can fcimw E. df;é 0? Well, this is electrodynamics, not electrostatics! So, this time the EMF
is electric in nature. When we use Stokes Law, we obtain:

EMF = / E-dl
circuit

- / (V- xE)-d (3.15)
sur face—circuit
From the previous section we know that
do d _,
EMF = ——B:——/ B-ds
dt dt Jsur face—circuit
0B
= — / —-do (3.16)
sur face—circuit dt
When we combine these results we find Faraday’s Law:
= = ag
V- XE=—— 3.17
5 (3.17)

Hence, a changing magnetic field induces an electric field.

In the first experiment we calculated the Lorentz force and therefore knew the direction of the
current. In the second experiment it is already much harder to figure out what the direction of the
current will be. And, you could get really lost when you have to predict the direction of the current
in case of a time dependent magnetic field! Fortunately, there is a handy trick to do this, called
Lenz’s Law. It states that the:

’induced current attempts to compensate the change of magnetic flux’.

Hence, when the magnetic flux decreases (when the circuit is pulled out of the field) the induced
current generates a magnetic field in the original field direction (think of the circuit as a solenoid
with one winding). Use your right hand to deduce that the current flows counter clock wise in the
experiments we just discussed.

3.2.6 Knowledge and skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You can derive Ohm’s Law V = IR from J = Gf.
e You can calculate the EMF of an electric circuit.

e You understand the following relation:

do
EMF =Vinueed = =~ (3.18)
t
and that a changing magnetic field induces an electric field according to the relation:
- - 0B
V-XE=—— 3.19
5 (3.19)

e You know how to predict the induced current in an electric circuit using Lenz’s Law.
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3.3 Electromagnetic inductance and circuits

3.3.1 Self-inductance

Figure 3.7 depicts an illustration of a current loop and its magnetic field. From Biot-Savart’s Law

Figure 3.7: An illustration of a current loop and its magnetic field.

we know that whatever the exact shape of the current loop, its magnetic field is proportional to the
current: |B| o< I. When we consider the magnetic flux through the loop, originating from its own
magnetic field we can write:

Qp = B-dgo

= LI (3.20)

with L a factor of proportionality called self-inductance, with unit Henry, 1 H=1 Vs/A. The self-
inductance only depends on the geometry and size of the loop.

When the wire loop is placed in a magnetic field, it requires an electromotive force to change
its current:

dd dl
EMFloop = Vloop = _d—tB = LE (3.21)
Self-inductance of a solenoid
N windings/meter 1
current | r
R

Figure 3.8: A solenoid with N windings per meter, radius R and length [.

Figure 3.8 shows a solenoid with radius R, length / and N windings per meter. To determine the
self-inductance of this solenoid we calculate the flux through all windings from its own magnetic
field. Using Ampere’s law we know the field in the solenoid: B = uoNI%. The magnetic flux though
a single winding is:

o) = / B-d3 (3.22)
winding—sur face
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The field points in the direction of normal of the surface, so

oL = |B|do

[vind ing—surface

2 R
_ / LoNIrdrdd
9=0.Jr=0

= uoNInR? (3.23)
The number of windings of the solenoid is N/, which leads to a total flux through the solenoid of:
®p = NIDL = poN*InR*l (3.24)

As predicted, this flux is proportional to the current /. Hence, the self-inductance, L, of this solenoid
is:

L=®g/l = uyN*InR* (3.25)
Self-inductance of a coaxial cable
r
- - I — ‘e -— o w

Figure 3.9: A coaxial cable with inner radius a and outer radius b and length . In the inner and
outer core, but in opposite direction, flows a current 1.

Figure 3.9 shows a coaxial cable with inner radius a and outer radius b and length /. A current
I flows though the inner core in one direction and runs in the opposite direction in the outer core.

Inside the cable in the region a < r < b, there is a magnetic field in the ¢ direction. Using
Ampere’s Law we determine the magnitude of this field:

L4 2n
B-di= | Bydo = Bs2mr = ol (3.26)
loop 0

and thus By = (uol)/(27r).
To calculate the magnetic flux in the coaxial cable we have to determine *amount’ of magnetic
field that runs through the region between a < r < b and length /:

[ b I
Dy = / dl' / ar2ot
0 a 271,'}"

b
Mol
| dr—
[, r27‘[r

I
- z‘z‘inln(b/a) (3.27)
And again, the flux is proportional to I and the self-inductance becomes:

_ %5 _ Mo
L=—"=17"In(b]a) (3.28)
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3.3.2 Mutual inductance

Loop 2 Loop 2

Loop 1 l{'
1\; ‘k Loop 1

Figure 3.10: Illustration of two infinitesimal loops (1 and 2) with current [ that ’sense’ each other’s
magnetic field, indicated by the arrows. The left and right drawing depict two different orientations
of the loops.

Consider two identical infinitesimal loops (we use square loops) as shown in Fig. 3.10, both with
current / = I} = I,. For the flux through loop 2 from loop 1 we can write CIDgl) = MI, = MI. With
M a factor of proportionality, called the mutual inductance. Physically the situation is completely
symmetric. Hence, for the flux through loop 1, we can write CI>(12) = M1, = MI, with the same factor
M. If we change the orientation of the loops, the factor M changes accordingly, but the symmetry
43(12) = dbgl) remains.

Is this relation also valid for macroscopic loops of any size and shape? We consider the in-
finitesimal loops again. Suppose we extend the second loop, 2a, with an additional infinitesimal
loop, 2b, (with the same current) as depicted in Fig. 3.11. The extended loop 2=2a+2b now forms a
single loop again, but just twice as large as the original. We can write:

%) = @\t — o\ 1 &) = M1+ MyI = M, 1 (3.29)
All the arguments before allow us to write for the individual contributions from a and b:

o\ = M1 = @
b 1
') = M1 = B
and thus:
o) =f) | =)+ DY) = Mol + Myl = Myy1 (3.30)
We could extend the loop 2 again by adding another additional infinitesimal loop and would find the
same relation again. In fact, we can make macroscopic loop of any size and shape of a collection of
infinitesimal loops and thus we can conclude that

¥ = m1,
o) = M1, (3.31)
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/ Net /=0
Loop 2

Loop 1

(s

Figure 3.11: Ilustration of two loops (1 and 2) with current I that ’sense’ each other’s magnetic
field, indicated by the arrows. The second loop consists of two infinitesimal loops, a and b.

where M depends on the exact geometry of the configuration.

As an example we consider the configuration with a single current loop L, radius R, placed in
a long solenoid S with radius Ry and N windings per meter as illustrated in Fig. 3.12. A current /

Figure 3.12: Illustration of a single loop L in a long solenoid S, both with current I.

runs through the winding(s) of L and S. What is the flux through the solenoid S from L. You could
calculate the dipole field of L and determine the flux that S sees by integration. Yes, you could,

but you should not. Instead, you should write down: 61325) =MI= d)_(gL). Thus, when you calculate

the flux through L from S, CDES), you also have CI>§L). The solenoid generates a magnetic field of
B = Bg = NI in the axial direction. The flux through L is:

@) = BAR2 = pynR2NI (3.32)

We can read off that M = pomR?N and thus the flux through the solenoid from the single loop is
thus:

) = MI = pynRINI (3.33)
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3.3.3 Electric circuits

In the previous sections we discussed the relation between the current and the EMF for a resistor
and for an inductor. Another object is the capacitor which was introduced in the course on electro-
statics: Ve = Q/C. Analogous to the self-inductance L for an inductor, the capacitance C depends
only on the geometry of the configuration. The EMF to charge a capacitor equals V¢ and a relation
with the current can be easily derived:
ve_1d0_1, a3
dd Cdt C
Now we have three objects that we can combine to build electric circuits. Electric circuits
that we consider consist of a battery that provides the potential difference Vj leading to current
through a closed circuit that consist of, or combinations of, resistor(s), capacitor(s) and inductor(s).
The voltage change going around the circuit in the direction of the current flow should be zero
(Kirchoff’s Voltage Law). Note that we wrote voltage change, we can have a voltage drop or a
voltage rise, implying that we should keep track of 4+ and — signs once again.
For our three objects the voltage always drops when we follow the current / in the positive
direction. Remember that when we cross a battery (in the direction of positive current) the voltage
increases by the battery potential Vy. We summarize these properties in Table 3.1.

Object Potential change | relation with /
Resistor R —Vr Ve = IR
Inductor L -Vi V., = L%

. dve _ 1
Capacitor C —Ve G =l
Battery Vp Vo no resistance

Table 3.1: The voltage change over possible elements in an electric circuit when we follow the
direction of the positive current.

Consider the electric circuit consisting of a battery with potential Vj, a self-inductance L and a
resistor R, shown in Fig. 3.13. At time ¢ = 0 the battery is just hooked on and the current through

Figure 3.13: An electric circuit with a battery, resistor and a self-inductance.

the circuit is zero: 7(0) = 0. What is the current at any time? To solve this problem, we ’walk’
around starting just before the resistor and add all voltage changes: We use Table 3.1 and obtain:

—Ve—Vi+Vo=0
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Vo—ViL=Vr
dl
Vo—L— =I1(t)R
0—Lg =10
dl R Vo
N (PANINAY )
TR A (3:35)

Physically we can interpret the last equation as the electromotive force Vy — L% of a battery and an

inductor that establishes the potential Vx = IR to drive a current through a resistor.

Mathematically, it is a first order differential equation with the structure ‘2—-t =af+b. The

general solution is f(z) = ke” — g, with a, b and k constants. Returning to our LR circuit, we write:

1(t) = %(1 — e (R/L)ry (3.36)

Figure 3.14 shows the current as function of time. At time intervals L/R, called the time constant,
the current increases with fractions 1 — 1/e.

I(t) 1>V,/R

tijd
Figure 3.14: The current of an LR circuit as function of time.

Another first order circuit is shown in Fig. 3.15, which consists of a resistor, a capacitor and a
battery. At time 7 = 0, the battery is just hooked on, the charge on the capacitor Q¢(0) = 0 (and

C

N S

V,T Ve
R

Figure 3.15: An electric circuit with a battery, resistor and a capacitor.

Ve (0) = 0) and the current 1(0) = 0. What is the potential over the capacitor at any time? We ’walk’
around starting just before the resistor and add all voltage changes: We use Table 3.1 and obtain:

—Ve—Vec+Vy = 0

Vo—Ve = Vi
Vo—Ve = I(l‘)R

v
Vo—Ve = RCZE (3.37)

dt
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with solution:
V() = Vo(1 — ¢ 1/ (RO)) (3.38)

The time constant of this circuit is RC as illustrated by Fig. 3.16.

V(D) VoV,

RC

C v tid

Figure 3.16: The potential difference over a capacitor in an RC circuit as function of time.

3.3.4 Energy in electric circuits
Energy dissipation in a resistor
Consider the basic circuit of a battery and a resistor, shown in Fig. 3.17 below. Each second a charge

I
—

- .
Vo

R

Figure 3.17: An electric circuit consisting of a battery V and a resistor R.

Q = I is pumped through the resistor, which requires work W. Some chemical reaction in the battery
provides the necessary energy. The dissipated energy in the resistor is transformed into heat. Since
the voltage change over the resistor is V = V), the energy needed to transport the charge equals
W =V Q. The energy per second dW /dt, the power, dissipated by resistor is P =V Q/1s = VI with
unit Watt. Using Ohm’s Law we obtain the equivalent expressions P = I’R and P = V> /R.

Energy stored in a capacitor

In the course on electrostatics we have derived that the energy in a capacitor is given by W = %CVZ.
In this section we study the energy stored in a capacitor in an electric circuit and obviously expect
to find the same result. Consider an RC circuit as discussed in section 3.3.3. From the calculation
in this section we conclude that the capacitor gets charged (with time constant RC). For the power
required to charge the capacitor we write:

_dwe _ Qcdge

P=——=Vc(0)I(t) = C s

7 (3.39)
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The total energy in a charged capacitor (Q¢ = Q) is obtained by integration over time:

[ dw * QcdQc
W_/rzodtdt =0 C dtdt
— &@dl‘
=0 C dt
¢ QOc 102 1,
— =d0r= == _CV 3.40
=533 (3.40)

which is no surprise.

An alternative expression for the energy in the electric field, also derived in the Chapter on
electrostatics, is:
We =2 E2dv (3.41)
2 Jvolume
Let’s check this expression for a parallel plate capacitor. The distance between the plates is d and
the plates have a surface area A, leading to a capacity C = %TA. In the ideal case, the electric field
outside the plates is zero, while in between the plates the field is given by |E| =V /d. For the energy
we find

& V2
We = =2 ~dv
¢ 2 volume d2
g V? €A _ 1o
= ——Ad= ==-CV 3.42
2 d? 2d 2 ( )

as expected.

Energy stored in a self-inductance

To determine the energy stored in a self-inductance we can follow the same strategy as above. For
the power required to reach a current /;, = I in a self-inductance L we write:

dw, dl,
P =5 = I(0)Vinducea (1) = IL ()L ¢ (3.43)
The total energy in the self-inductance is obtained by integration over time:
iy,
WL = —dt / Ip.( L—d
L /t o dr L(t
= / IL(Z)LdIL
t=0
1
= 5LI2 (3.44)

This formula has the same structure as the expression for a capacitor. Is there also an alternative
expression for energy in a self-inductance in terms of the magnetic field? Well, we could just try:

1
S B’ 4
WL 2,“0 /volume dv (3 5)
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Let’s check this expression for a solenoid. For a solenoid L = po/N*7R? and thus (using equa-
tion 3.44) Wy = %IN 27R?I>. Now we use the trial equation 3.45:

1
W, = — NI)*d
L 2,“0 /volume(uo ) Y

_ 1 2 2
= (uoNI)“ImR

= DunaRer (3.46)
which leads to the same result! Equation 3.45 is indeed the correct expression for the energy of
the magnetic field. By the way, we can also use this expression for the energy to calculate the

self-inductance of an object: L =2W/I°.

3.3.5 Knowledge and skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You understand the meaning of self-inductance and mutual inductance.
e You can calculate the self-inductance of the solenoid and a coaxial cable.
e You can calculate the time dependent current in RC and LR circuits.

e You can calculate the energy in a self-inductance and in the magnetic field.

3.4 Maxwell equations

In this section we complete the field equations and derive the existence of electromagnetic waves:
light! First we summarize the field equations, we encountered so far. Look at the structure of these

Comment Integral
Gauss J, E-do=0Q /€ =/, L av
sur face - enclosed | €0 volume g,

No magnetic monopoles | [, face B do=0

Faraday Jioop E-di=— d%

Ampere fzoopB'dl = Uolenciosed = fswfacej-db'
Differential

Gauss V--E=p/e

No magnetic monopoles | V- B=0
. P _ _0B

Faraday Y xlg =-%

Ampere V- xB=uyJ

Table 3.2: The (incomplete) field equations based on electrostatics, magnetostatics and Faraday’s
Law in integral and differential form.

equations in Table 3.2. There is an asymmetry between the electric and magnetic field, due to the

fact that there exist no magnetic monopoles. In addition, there is nowhere a term %—f. Did we miss
something? How can we find that term, called the Maxwell term?
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3.4.1 The Maxwell term from a gedanken experiment

At time ¢ = 0 an empty capacitor is charged in a circuit as depicted in Fig. 3.18. Around the wire at

b: balloon|surface

F 3

i a: disc

Figure 3.18: An electric circuit with a parallel plate capacitor. An Amperian loop is indicated. Also
indicated are two surfaces (a and b) that are enclosed by the Amperian loop. Surface a has the
‘usual’ shape of a disk. Surface b has the shape of a balloon and is stretched in between the plates
of the capacitor.

position a a magnetic field is generated by the current / such that Ampere’s law is fulfilled:

-

/ Bedl = ol (3.47)
loopa

In this case, the loop a spans a surface, a disk, penetrated by the the wire, thus the enclosed current
is /.

Now we modify the surface a little bit and stretch it in between the capacitor plates, such that
it acquires the shape of a balloon b. In fact, no wire is pointing through the surface and the the
enclosed current is zero:

-

/ B-di=0 (3.48)
loopb

which suggests that the magnetic field has vanished in conflict with equation 3.47. Something must
be wrong with Ampere’s law! How can we fix that? Well, the electric field between the plates of

the capacitors is |E| = &= %’0). The time derivative is |% = ALSO‘Q—? = ALEO. A changing electric
field is related to a current, which fixes Ampere’s Law:
. JE
B-dl = Uolenciosea + Ho€o e do (3.49)
loop surface ot

and we conclude that a changing electric field induced a magnetic field!
This calculation may look not so scientific to you or perhaps it even looks like a hat-trick. Right,
but nevertheless the result correctly describes the original gedanken experiment!
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3.4.2 The Maxwell term from a controlled charge explosion

Another example that yields the Maxwell term is a slowly exploding charge as illustrated in Fig. 3.19.
A large collection of charge at the origin slowly explodes. In the figure, an imaginary sphere is also

. f
J(t
DA -
«
oL
Sy,
& '\\ ~
“
v\

Figure 3.19: A large amount of charge at the origin slowly ’explodes’. The charge that emerges
from the explosion traverses an imaginary sphere. On the surface of this sphere an infinitesimal
Amperian loop is also indicated

shown. The charge that emerges from the explosion uniformly traverses the sphere. You could
compare this situation with a radioactive decay. However, in radioactive decays usually, besides
electrons, also photons and neutrinos are produced. Anyway, charge-wise, the explosion is compa-
rable to radioactive decays. When we start with Ny nuclei with charge ¢ and lifetime 7, then the
number of nuclei at a given time is N(¢) = Noe */* and the total charge is Q(¢) = gN(t). The electric
field of the charged nuclei is given by:

o 1 gNpe™'/T
E= Aey  r? " (3:30)

Each decay produces a charge g which leads to a shower of charge’ that escapes: with correspond-

ing current:

I — _&(t) — q_NOe—t/T (3.51)
dt T

For the current density through a spherical surface we find:

. N, —t/T
J=20e 5

3.52
T Axr? ( )

where r represents the radius of the surface.

Now we investigate the integral f,oopB'(r) -dl of the magnetic field over a small loop on the
surface of the sphere, also indicated in Fig. 3.19. The dot-product filters out the component of the
magnetic field along the surface of the sphere, B;,. What is the magnitude of this component? Well,
look at the symmetry of the configuration. The can not be a component of the magnetic field along
the surface, and thus:

B(r)-dl= | By(r)di=0 (3.53)

loop loop
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According to Ampere’s law, this loop integral should be proportional with the enclosed current:
Uolenciosea = HoJ - d3. 1s the enclosed current zero as equation 3.53 demands? No, because there is
certainly charge showering through the surface enclosed by the loop. So, Ampére’s Law fails again.
Let’s see whether the changing electric field completes the equation:

OE

B-dl = polenctosea + Ho&o . 4o (3.54)
loop surface Ot

. OE
= .UO/ J-db'—i-‘uog()/ —-do
sur face sur face dt

Now we substitute the expressions we derived for the current density (equation 3.52) and the electric
field (equation 3.50) and obtain:

. —t/t N, de—tl7
B-dl = IJO/ Noge 2d0+,u080/ 0Q de do
sur face T anmr s

l()()p 4 urface 471:8()}’2 at
Q e—t/‘L' Q e—t/’L'
= No—= do— No—= do
Ho /surface T 4mr? Ho sur face T 47r?
=0 (3.55)
oE

So, the Maxwell term L& f; -dd, saves the day again!

ur face ot

3.4.3 Continuity equation

In the previous section we used the fact that charge is conserved. A current through a (closed)
surface was the result of a changing charge in the enclosed volume:

I . _ _ dQvolume
sur face dt
o d
J-do = ——/ dv
/sur face dt Jyolume P
- d
/ J-do+ —/ pdv = 0 (3.56)
surface dt Jvolume
Using Gauss’s rule we can write:
.. d
/ . Jdv+ Pav=0 (3.57)
volume volume
and thus: J
V. I+ o (3.58)

dt
This expression is known as the continuity equation.
Is this consistent with our renewed Ampere’s Law? We start with:

-

- - OE
| Bedi=po[  F-do+ poso s (3.59)
loop sur face sur face dt

and use Stoke’s Law to write:

. S OE
/ V-xB-db’:uo/ T-d5 + pogo = .a5 (3.60)
sur face

sur face sur face at
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Note that the surface is arbitrary, thus the integrands must be equal:

-

= - - aE
V. xB:u0J+u080§ (3.61)

(which by the way is the renewed Ampere’s Law in differential form!) Now take the divergence of
this equation and realize that the divergence of a rotation is zero by construction:

=3

= = o > o = OE
V--V-XB:O:NOV--J-F.UOSOV"E (3.62)

or equivalently

ap
ot
from which we can read off the continuity equation. As a matter of fact we can conclude that
Ampere’s Law extended with Maxwell’s term leads to charge conservation.

V-V-xB=0=puV--J+ o (3.63)

3.4.4 The complete set of Maxwell equations

The time has come to write down the complete set of field equations which we derived during our
tour through electrostatics, magnetostatics and electrodynamics leading to Faraday’s Law and the
Maxwell term. The equations are know as the Maxwell Equations and are listed in table 3.3. The

Comment Integral

Gauss Tusface B0 = Qanctoa 180 = Jpune 207

No magnetic monopoles | [, 4., B-dd =0

Faraday Jioop E-dl=— 40s

Ampere+Maxwell term | [; OOPE dl = Holenciosea + Ho€o J. sur face % -do
Differential

Gauss V--E=p/e

No magnetic monopoles V--B=0

Faraday V-xE = —%—‘[9

Ampere+Maxwell term V-xB= UoJ + Uo€o %f

Table 3.3: The complete set of field equations based on electrostatics, magnetostatics and electro-
dynamics, called the Maxwell Equations, in integral and differential form.

physical behavior of electric and magnetic field are described by these equations. In the following
section we use the Maxwell Equations to derive the existence of electromagnetic waves of which
light is a specific example.

3.4.5 Electromagnetic waves

The Maxwell equations, based on empirical studies, can now be used to further investigate the
physics of the electric and magnetic field. In this section we study the fields in free space, which
requires some mathematics, but the result will be worth it.
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In vacuum, away from electric charges and currents the Maxwell Equations (in differential
form) simplify to:

(@) V--E=0
- - 0B
b V-XE=——
() o
(¢) V--B=0
= = a E
(d)  V-xB= oo (3.64)
Now take the rotation of 3.64b and write:
V:XV-XE=-V:-x— (3.65)
dt
First, we concentrate on the left hand side. Using basic calculus we obtain:
V.-xV.-xE=V.(V--E)-V2E (3.66)
Remember that we are in vacuum and use equation 3.64a to write:
V-xV.xE=-V2E (3.67)
Now, we proceed with the right hand side:
- 0B  9V.xB
VX = 3.68
o dt (3.68)
and use 3.64d to write:
- OB 0°E
V- X— =—W&— 3.69
5 Hogo=5 (3.69)
When the results are combined we obtain:
o 5 9°E
V2E = upey—=—> 3.70
Hogo=5 (3.70)
Starting with the rotation of 3.64d you find a similar relation for the magnetic field:
o 5= 9’B
V2B = pogy—=—> 3.71
Hogo—- (3.71)

Fine, so what? Well, remember the theory of waves. The classical wave equation for a wave in

the z direction with speed v is:
Py %y
o " a7

with typical solution A cos(kz — wt) where @? = k*v*. Hence, the equations 3.70 and 3.71 imply

the existence of electromagnetic waves with speed v = ﬁ = ¢, the speed of light!

(3.72)
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Monochromatic waves in one dimension

In this section we study a typical solution of the electromagnetic wave equation. To simplify the
math, we assume:

o The electric and magnetic field only depend on z and ¢;
e We stay in the vacuum which is infinitely large.

This leads to the following wave equations:

J’E ,0°E
e B
or? 072
9’B ,0°B
- — CT——
o012 272
with solutions of the form:
E = E%os(kz — wr)
B = B%os(kz — wr) (3.73)

with @ = kc. The constants E® and B° can be determined by applying Maxwell Equations in
vacuum (again):

e V..E =0=—E%sin(kz— wt) implies that E® = 0.
e V..B=0=—B%sin(kz— wr) implies that B = 0.
e V-xB= Ciz% leads to:
+cB) = E)
—cB)=E) (3.74)
which can be written as: |
BY=—zxE’ (3.75)
c
The equation V.xE = —%—? implies the same and adds no information.

We summarize our findings by saying that the Maxwell Equations have solutions that can be
interpreted as electromagnetic waves with speed c, the speed of light. These waves are transverse:
the electric and magnetic fields have no components in the direction of propagation (E, = B, = 0).
In addition the fields are also mutual transverse and in phase. Figure 3.20 shows an illustration of
an electromagnetic wave.

3.4.6 Knowledge and skills

The knowledge and skills you should have acquired during reading of the previous can be summa-
rized as follows:

e You understand the problem in Ampere’s Law.
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|§= ELV
B BLlv
B&E
in phase

Figure 3.20: A schematic view of an electromagnetic wave.

You can fix Ampere’s Law.

You can write down the Maxwell Equations.

You can derive the continuity equation from these equations.

From the Maxwell Equations in vacuum you can proof the existence of light and its proper-
ties.



